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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-II 

SESSION: 2024 - 2025 
CLASS: IX              MAXIMUM MARKS: 50 

SUBJECT: ARTIFICIAL INTELLIGENCE (417)             TIME: 2 HOURS 

General Instructions: 

1. Please read the instructions carefully. 

2. This Question Paper consists of 21 questions in two sections: Section A & Section B. 

3. Section A has Objective type questions whereas Section B contains Subjective type questions. 

4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15 questions in the allotted 

(maximum) time of 2 hours. 

5. All questions of a particular section must be attempted in the correct order. 

6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS): 

i. This section has 05 questions. 

ii. Marks allotted are mentioned against each question/part. 

iii. There is no negative marking. 

iv. Do as per the instructions given. 

7. SECTION B – SUBJECTIVE TYPE QUESTIONS (26 MARKS): 

i. This section has 16 questions. 

ii. A candidate has to do 10 questions. 

iii. Do as per the instructions given. 

iv. Marks allotted are mentioned against each question/part. 

SECTION A: OBJECTIVE TYPE QUESTIONS 

Q.1 Answer any 4 out of the given 6 questions on Employability Skills.                    (1x4=4 marks) 

i Which of the following is not a part of the 7C's principles of communication? 

a. Concrete      b. Concise 

c. Courtesy      d. Conscious 

1 

ii Expressions, Postures, Gestures are components of ________ Communication. 

a. Verbal       b. Non-Verbal 

c. Written      d. Visual 

1 

iii Which of the following is NOT a barrier to effective communication? 

 a. Language barriers                                                               b. Noise  

 c. Active listening                                                                   d. Cultural differences 

1 

iv Being accountable means being ___________ for your action. 

a. Confident      b. Stressed 

c. Insecure      d. Responsible 

1 

v The term grooming associated with ______________. 

a. Time management     b. Neat and Clean appearance 

c. Self-management     d. Goal management 

1 

vi __________ is not the quality of self-confident people. 

a. Dependent      b. Hard Working 

c. Positive Attitude     d. Commitment 

1 

Q.2 Answer any 5 out of the given 6 questions. (1x5=5 marks) 

i What is Artificial Intelligence? 

a. Putting your information into computer  

b. Programming with your own intelligence 

c. Integrating intelligence in an artificial device 

d. Playing a game with friends 

1 
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ii Modern chatbots, virtual assistance like google assistant, Siri, Cortana etc. are based on 

_________ domain of AI. 

a. Natural Language Processing    b. Computer vision  

c. Data Science      d. Machine Learning 

1 

iii Which language is known for its simplicity and is highly popular for AI development? 

a. C++                                    b. Python    

c.   Ruby                                                                            d. Java 

 1   

iv Rock, paper, scissors game is based on ______ domain of AI. 

a. Natural Language Processing    b. Data Science 

c. Computer vision     d. None of these 

1 

v Which of the following option is related to Data literacy? 

a. Write computer code     b. Create databases 

c. Understand and analyze data    d. Operate software programs 

1 

vi Which among these is not a type of data interpretation? 

      a. Textual         b. Tabular             c. Graphical                d. Raw data   

1 

Q.3 Answer any 5 out of the given 6 questions (1x5=5 marks) 

i Which of the following is not a part of the 4Ws Canvas? 

a. Who       b. Why  

c. What       d. Which 

1 

ii Identify A, B and C in the following diagram (Hint: How Machine Learning (ML), Deep 

Learning (DL) and Artificial Intelligence (AI) are related to each other): 

 

 

  

 

a. A-ML, B-DL, C-AI 

b. A-AI, B – DL, C- ML 

c. A-DL, B- ML, C-AI   

d. None of these 

1 

iii Which of the following is not a feature of smart home? 

a. Automatic vehicle challan generation   b. CCTV surveillance 

c. Face recognition-based door unlocking facility d. Control over voice command 

1 

iv What is Al bias? 

      a. AI systems always make accurate predictions 

      b. AI systems exhibit prejudice or discrimination in outputs 

      c. AI systems do not use data. 

      d.AI systems function without any human input 

1 

v Which of the following is an example of a secure connection? 

a. HTTP website      b. HTTPS website 

c. Public Wi-Fi network     d. Unencrypted email 

1 

vi Which of the following is an example of qualitative data? 

       a. Height of a person      b. Weight of a package     c. Type of car     d. Number of books 

1 

Q.4 Answer any 5 out of the given 6 questions (1x5=5 marks) 

i How many Sustainable Development Goals (SDGs) are there? 

a. 10                            b. 12 

c. 17                                       d. 20 

1 

ii In which stage is Al models are tested? 

a. Data Acquisition                    b. Problem Scoping 

c. Evaluation      d. Modelling 

1 
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iii _________ is a technology that can generate fake digital media looking as original as 

possible. 

a. Deep learning      b. Deep fake 

c. Beautification      d. Gen AI 

1 

iv You order a new dress from Amazon and after wearing it on your friend’s birthday party, 

you returned it stating the reason inappropriate fitting. This is an example of ______. 

a. Fairness      b. Ethics 

c. Bias       d. Morals 

1 

v The process of combining data from multiple sources is called ___________. 

a. Data transformation     b. Data integration 

c. Data cleaning      d. Data normalization 

1 

vi Which is not an example of continuous data? 

a. number of computers in computer lab                        b. Gender 

c.   voltage                                                                        d. both a and b  

1 

Q.5 Answer any 5 out of the given 6 questions (1x5=5 marks) 

i ____________ is an application of AI. 

a. Remote controlled Drone    b. Self-Driving Car 

c. Self-Service Kiosk     d. Self-Watering Plant System 

1 

ii Which of the following is the technique of representing data in a pictorial or graphical 

format? 

a. Data Visualization     b. Data Exploration 

c. Data Integration     d. Data Modelling 

1 

iii The people who face the stated problem and would be benefitted with the solution are 

termed as ___________. 

a. Stakeholder      b. Key persons 

c. VIP       d. End user 

1 

iv Nomita has 10 chocolates and Rumela has 14 chocolates. How many chocolates do Nomita 

and Rumela have in total? – This is an example of _______________.  

      a. Data Interpretation     b. Data Processing 

      c. Data Cleaning      d. Data Security 

1 

v __________ is the practice of protecting digital information from unauthorized access, 

corruption, or theft throughout its entire lifecycle. 

     a. Data Security                                                                    b. Data Literacy 

     c. Data Privacy                                                                     d. Data Acquisition  

1 

vi What is the role of data cleaning in the stage of data preprocessing? 

a. Analyze the data     b. Visualize the data 

c. Remove errors and inconsistencies   d. Interpret the data 

1 

 

SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 3 out of the given 5 questions on Employability Skills. (2x3=6 marks) 

Answer each question in 20 - 30 words. 

Q.6 Mention any four advantages of verbal communication. 2 

Q.7 Draw the diagram of communication cycle and mention all the components. 2 

Q.8 Write any four importance of Time Management in our day-to-day life. 2 

Q.9 What are the four ways to maintain your personal Hygiene? 2 

Q.10 Ms. Rohini, an assistant professor, has been appointed as an HOD for her department. She 

has got several administrative works. As she is not familiar with this kind of work, she is 

feeling stressed and her anxiety level has increased. Suggest her some ways to cope up with 

this situation. 

2 
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Answer any 4 out of the given 6 questions in 20 - 30 words each. (2x4=8 marks) 

Q.11 “All the smart devices are not AI enabled”- justify your answer with any two examples. 2 

Q.12 Mr. Thomas has designed an AI model to recruit some employees for his courier service. 

But surprisingly the model selects only men persons. What are the reasons for this bias in 

decision making in respect to AI? 

2 

Q.13 Naveet is confused with the terms training data and testing data. Help him to differentiate 

between the terms. 

2 

Q.14 Rohit wants to know all the stages of AI project cycle. Draw a diagram to help him to 

understand all the stages with diagram. 

2 

Q.15 Rahul does not know the role of data in our day-to-day life. Help him to know why is data 

literacy crucial in today’s life? 

2 

Q.16 Explain the term Data Acquisition in AI project Cycle. Also Mention some sources of data. 2 

 

Answer any 3 out of the given 5 questions in 50 - 80 words each. (4x3=12 marks) 

Q.17 Rehan’s school is going to adapt modern technologies with AI to manage most of the 

functionalities of the school. As a friend help him to know how better is smart school in 

offering education and transportation solution than a traditional school. 

4 

Q.18 Zoya has started to use various AI enabled services to ease her daily life. Let her know the 

major ethical concern of AI with some examples. 

4 

Q.19 There is a long waiting line for the parking area in the mall near your house. People often 

park their cars on the roads rather than wait for their turn. This creates traffic problems. Try 

to determine the scope of this problem by using 4Ws canvas of AI’s problem scoping 

framework. 

4 

Q.20 Robin is confused with the terms True positive, True Negative, False Positive and False 

Negative related to AI Evaluation. As a friend explain the terms with suitable examples. 

4 

Q.21 Anuj’s grandmother has started to use internet browsing and social networking from last 

week. She does not have any idea about data security and privacy. Suggest her some best 

practices (dos and don’ts) to secure data and privacy for cyber security. 

4 

 

****************** 



D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST II 

SESSION 2024-2025 

CLASS: IX                               MAXIMUM MARKS: 80 

SUBJECT: BENGALI                                          TIME: 3 HOURS  

__________________________________________________________________________ 

General Instructions:- 
• Please check that this question paper contains 10 printed pages.  

• Please check that this question paper contains 16 questions. 

• The question paper is divided into two Parts. 

PART –A: Objective Type Paper (MCQ): 25 Marks 

PART –B: Descriptive Paper:                     55 Marks 

            PART –A has three sections: (MCQ) 

• Section – A: Reading (Unseen Comprehension):                                12 Marks 

• Section -  B: Grammar:                                                                        03 Marks 

• Section- C : Main Course Book &Supplementary Reader :                 10 Marks                                                                        

PART –B has Three Sections: (Subjective)  

• Section -  A: Grammar:                                                                       10 Marks 

• Section – B:  Main Course Book & Supplementary Reader:               33 Marks                                                                                  

• Section – C: Creative Writing:                                                            12 Marks 

 PART-A: OBJECTIVE TYPE QUESTIONS(MCQ) (25) 

SECTION- A(Reading) (12) 

(Unseen Comprehension) 

 

1. নীচের অনুচেদগুলি পাঠ কচর প্রদত্ত প্রশ্নগুলির সলঠক উত্তরলি লনর্বােন কচর লিচ া।                  (1×4)×3=12 
A. শব্দ আমরা প্রচ াগ কলর প্রধানত দুভাচর্— মুচ  উচ্চারণ কচর র্লি আর কাগচে র্ানান কচর লিল । র্িচত 

লগচি উচ্চারণ লঠকঠাক হও া োই, লি চত লগচি র্ানান ভুি করা িজ্জার। র্ক্তার র্দচি এিাকার র্দচি 
সমচ র র্দচি উচ্চারণ একিু একিু কচর র্দিা । র্ানান র্দিা  লকর্ি সমচ র র্দচি, র্ক্তা র্া এিাকার 
র্দচি ন । সর্ শচব্দর র্ানান আর্ার সমান তাচি র্দিা  না, লকাচনা লকাচনা র্ানাচনর র্দি এচকর্াচরই 
ঘচি না। লি ার শব্দ র্ানাচন ধচর রা ার দাল ত্ব যথাসাধয পািন কচর অলভধান। এই মুহূচতব র্াাংিা শচব্দর 
র্ানান আর অথব ধচর রা ার লনভবরচযাগয দাল ত্ব পািন কচর েচিচে জ্ঞাচনন্দ্রচমাহন দাস মহাশচ র 'র্াঙ্গািা 
ভাষার অলভধান', হলরেরণ র্চ্যাপাধযা  মহাশচ র 'র্ঙ্গী  শব্দচকাষ', 'সাংসদ র্াাংিা অলভধান', রােচশ র 
র্সু মহাশচ র 'েিলিকা'। এগুলির প্রথম দুলিচত নতুন র্ানান পাও া যাচর্ না। কারণ এগুলি এ ন অতীত, 
সাংস্কার-সমতা লর্ধাচনর আচগ প্রকালশত। এচদর পাচশ সম্প্রলত এচস দাাঁল়িচ চে ‘আকাচদলম র্ানান অলভধান’ 
- লকর্িমাত্র লন ুাঁত আর নতুন র্ানাচনর (অচথবর ন ) লেহারািা তুচি ধরার েনয। সালহচতয লেলঠপচত্র 
সাংর্াদপচত্র লর্জ্ঞাপচন সাইনচর্ার্ব-চপাস্টার-র্যানাচর লযসর্ র্াাংিা শচব্দর প্রচ াগ এ ন েিচে, তার সলঠক 
সাং যা র্িা লর্শ শক্ত। অলভধাচন ধচর রা া শচব্দর সাং যা লথচক লি ার র্ানাচনর প্রচ াগ-সাং যা আ্াে 
কচর লনচত হ । 'র্াঙ্গািা ভাষার অলভধান'-এ (১৯৩৭) রচ চে প্রা  ১,১৫,০০০ শব্দ, 'র্ঙ্গী  শব্দচকাষ’-এর 
(১৯৬৬) শব্দ সাং যা ৭৫,০০০-এর লকেু কম, 'েিলিকা'  (১৯৫৬) প্রা  ৩০,০০০ শব্দ আর 'আকাচদলম 
র্ানান অলভধান'-এ (২০০৮) ধরা আচে প্রা  ৬৩,০০০ শব্দ। 

 

i) জ্ঞাচনন্দ্রচমাহন দাস রলেত অলভধাচন শব্দসাং যা— 
a. ১৯৩৭         b. ১, ১৫,০০০           c. ৩০,০০০             d. ৭৫,০০০ 

 

ii) 'েিলিকা'—কী?  
a. অলভধান      b. র্যাকরণ     c. রেনাচকৌশি      d. সাধু ও েলিত ভাষা লশ ার র্ই 
 

 



iii)  মির্য – 'র্ঙ্গী  শব্দচকাষ' নামক অলভধাচন আমরা র্াাংিা শচব্দর নতুন র্ানান পাই না।  
    কারণ –১.  হলরেরণ র্চ্যাপাধযা  নতুন র্াাংিা র্ানান লর্লধর লর্রুচে লেচিন। 
    কারণ –২. এই শব্দচকাষ সাংস্কার-সমতালর্ধাচনর আচগ প্রকালশত। 
a. কারণ ১ লঠক, কারণ ২ ভুি                  b. কারণ ১ ও ২ দুলিই লঠক 
c. কারণ ১ ও ২ দুলিই ভুি                     d. কারণ ১ ভুি, কারণ ২ লঠক 

 

iv) সলি লর্চেদ কচরা- ‘অতীত’  
a. অতী + ইত          b. অলত + ইত        c. অলত + ঈত        d. অতী + ঈত  

 

B.  আমাচদর সাধারণ ধারণা এই, লয লেহ, দ া, মা া, মমতা প্রভৃলত রু্লি মানুচষরই একচেলি া অলধকার। 
ইতর প্রাণীচদর মচধয রু্লি তাহা নাই, তাহারা রু্লি পরস্পচরর মচধয সর্বদাই লনষু্ঠর র্যর্হার কচর। 
েনসাধারণ এই অহঙ্কাচর অি হই া পশুপক্ষীলদগচক অর্জ্ঞা কচর, এর্াং একসচঙ্গ এক েগচত র্াস 
কলর াও তাহাচদর সু দুুঃচ র প্রলত লনতাি উদাসীন থাচক। লযসকি সহৃদ  র্যলক্ত পশুপক্ষীচদর েীর্ন 
আচিােনা কলর াচেন, তাাঁহারা লদল  াচেন লয তাহাচদর েীর্নও লঠক মানুচষর মতন সু  ও দুুঃচ  পূণব। 
তাহাচদর মচধযও লেহ দ া আচে এমনলক পশুপক্ষীচদর েীর্ন হইচত মানুচষর অচনক লশল র্ার আচে। 
পশুপক্ষীচদর মচধয মাতৃচেহ ও ভাচিার্াসার দৃষ্টাি লতামরা অচনক শুলন া থালকচর্। সিানচদর প্রাণ 
র্াাঁোইর্ার েনয পশুপক্ষী-মাতাও আমাচদর েননীর নযা  প্রাণ লদচত সর্বদাই প্রস্তুত। র্ানরচদর মচধয লদ া 
লগ াচে লয-চকাচনা র্ানরলশশু মাতৃহীন হইচি অনয র্ানরী তাহাচক অপতয লনলর্বচশচষ িািনপািন কচর। 
পক্ষীযুগচির মচধয এচকর মৃতুযচত অচনযর গভীর লশাচকর প্রমাণ পাও া লগ াচে। আে েন্তুচদর মচধয 
র্িুচত্বর একলি দৃষ্টাি লদর্। তাহাচদর মচধযও স্বাথবপর ভার্ লদ া যা  না। আমাচদর সাধারণ ধারণা এই 
লয, পশুপক্ষীচদর মচধয রৃ্ে ও পীল়িচতর েনয দ া নাই; লকন্তু র্াউিন নামক একেন ইাংরাে ভদ্রচিাক 
এক র্নযলি ার অদু্ভত পরচসর্ার কথা র্লি াচেন। র্নয লি ালি অনয োতী  একলি পঙু্গ ও শীচত মৃতপ্রা  
পাল চক আশ্র  লদ া প্রতযহ তাহার পািকগুলি পলরষ্কার কলর া লদত, তাহার েনয  াদযদ্রর্য আহরণ কলর া 
আলনত ও তাহাচক অনয অনয পাল চদর আক্রমণ হইচত রক্ষা কলরত।  

 

i) র্নয লি ার অদু্ভত পরচসর্ার কথা লক র্চিচেন? 
a. লিমাকব             b. র্ািিন            c. র্াউিন               d. র্ারউইন 

 

ii) পশুপক্ষীচদর েীর্ন লথচক কাচদর অচনক লকেু লশ ার আচে? 
a. গৃহপালিত পশুচদর     b. উলদ্ভচদর         c. মানুচষর               d. েন্তু-োচনা ারচদর  

 

iii) মির্য – লয লকাচনা র্ানরলশশু মাতৃহীন হইচি অনয র্ানরী তাহাচক অপতয লনলর্বচশচষ িািন পািন কচর।   
    কারণ –১.  পশুপক্ষীচদর মচধয মানুচষর মচতাই মাতৃচেহ ও ভাচিার্াসা র্তবমান।  
    কারণ –২.  সকি র্ানরী লনচের সিানচক রক্ষা করচত অক্ষম। 
a. কারণ ১ লঠক, কারণ ২ ভুি                  b. কারণ ১ ও ২ দুলিই লঠক 
c. কারণ ১ ও ২ দুলিই ভুি                     d. কারণ ১ ভুি, কারণ ২ লঠক 

 

iv) তাহাচদর মচধযও স্বাথবপর ভার্ লদ া যা  না।  
নীচে দাগ লদও া পদলির সলঠক র্যাসর্াকযসহ সমাসলি লেলিত কচর লিচ া। 
a. স্বাচথব পর(আসক্ত), তৎপুরুষ সমাস           b. স্বাথব পর যার, র্হুব্রীলহ সমাস   
c. স্বাচথবর েনয পর, লিগু সমাস                 d. স্বাচথব পর(আসক্ত), র্হুব্রীলহ সমাস 

 

C.  লর্দযােেবার প্রলত রচমশেচন্দ্রর আগ্রহ তাাঁর োত্রেীর্চন গভীরভাচর্ প্রকাশ পা । লর্িাচত আই. লস. এস. 
পরীক্ষা  লতলন তৃতী  স্থান অলধকার কচরন। সরকালর কমব-উপিচক্ষয র্াাংিাচদচশর লর্লভন্ন লেিা  তাাঁচক 
কমবরত থাকচত হ । কমবেীর্চন রচমশেন্দ্র অভূতপূর্ব সাফিয িাভ কচরলেচিন। তাাঁর পচদান্নলত তৎকািীন 
ইাংরােমহচি লক্ষাচভর সঞ্চার কচরলেি। কলমশনাচরর পদপ্রালির পর 'ইাংলিশমযান'-এর লক্ষাভ তাাঁর অনযতম 
উদাহরণ। ম মনলসাংচহ থাকাকাচি রচমশেন্দ্র Civilization of Ancient India নাচম একলি লর্রাি গ্রন্থ 

 



রেনা কচরন। স্বচদচশর অতীত লগৌরর্চক লর্শ্বর্াসীর কাচে প্রকাশ করর্ার অলভপ্রাচ  এই গ্রন্থ রেনা  
লতলন প্ররৃ্ত্ত হচ লেচিন। অতীত ভারচতর ঐলতহয, সাধনা ও সালহচতযর প্রলত তাাঁর গভীর শ্রো লেি। 
পলিতচদর সাহাচযয ঋচেচদর অনুর্াদ, লর্িাচত থাকাকাচি রামা ণ ও মহাভারচতর ইাংরালে অনুর্াদকচমব 
হস্তচক্ষপ প্রভৃলত লর্ষ  তার উদাহরণ। ১৮৯৭ লিস্টাচব্দ োকুলরর লম াদ লশষ হর্ার পূচর্বই লতলন োকুলর 
লথচক অর্সর গ্রহণ কচরন। এর কারণ র্াণীর আরাধনা এর্াং স্বা ত্তশাসন িাচভ লদশর্াসীর প্রচেষ্টাচক 
সহা তা করার আকাঙ্ক্ষা। লব্রলিশ-ভারচতর অথবননলতক ইলতহাস-সঙ্কিচনর উপকরণ-সাংগ্রচহ প্ররৃ্ত্ত হচ ই 
লতলন প্রা  ২০০  ি 'বু্ল রু্ক' সাংগ্রহ কচরলেচিন। পিালশর যুচের সম  লথচক, লর্াংশ শতচকর পূর্বকাি 
পযবি এই সুদীঘব কাচির অথবননলতক তচথযর সমাচর্শ ঘলিচ লেচিন তাাঁর রলেত দুই  চি প্রকালশত 
Economic History of British India নামক গ্রচন্থ। ইলতহাস েেবার আতযলিক লনদশবন এই গ্রন্থগুলি। 
এই ইলতহাস-প্রীলতই তাাঁর ঐলতহালসক উপনযাস রেনার লপ্ররণার উৎসভূলম। 

i)   রচমশেন্দ্র দত্ত োকুলর লথচক অর্সর গ্রহণ কচরন— 
a. ১৮৯৭লিুঃ          b. ১৮৯৬লিুঃ              c. ১৮৯৫লিুঃ             d. ১৯৮৭লিুঃ  

 

ii) রচমশেন্দ্র দত্ত আই. লস. এস. পরীক্ষা ________স্থান অলধকার কচরন। 
a. প্রথম          b. তৃতী                  c. লিতী                 d. েতুথব  

 

iii) মির্য – ম মনলসাংচহ থাকাকাচি রচমশেন্দ্র Civilization of Ancient India নাচম একলি লর্রাি গ্রন্থ 
রেনা কচরন। 
কারণ –১.  স্বচদচশর অতীত লগৌরর্চক লর্শ্বর্াসীর কাচে প্রকাশ করর্ার অলভপ্রাচ  এই গ্রন্থ        রেনা  
লতলন প্ররৃ্ত্ত হচ লেচিন। 
কারণ –২.  অতীত ভারচতর ঐলতহয, সাধনা ও সালহচতযর প্রলত তাাঁর গভীর শ্রো লেি না। 
a. কারণ ১ লঠক, কারণ ২ ভুি                 b. কারণ ১ ও ২ দুলিই লঠক 
c. কারণ ১ ও ২ দুলিই ভুি                    d. কারণ ১ ভুি, কারণ ২ লঠক 

 

iv) ‘রচমশ’— লর ালঙ্কত শব্দলির সলঠক সূত্রলি লেলিত কচর লিচ া।  
a. আ+ই=এ             b. অ+এ=এ               c. র+এ=এ                 d. আ+ঈ=এ 

 

SECTION – B(Grammar) (03) 

2. র্যাকরণ লথচক প্রদত্ত প্রশ্নগুলির সলঠক লর্কল্প উত্তরলি লর্চে লিচ া : (লয লকাচনা লতনলি) 1×3=3 

i) অ-কার বা আ-কাররর পর ‘ঋ’ থাকরে উভরে মিরে ‘অর’ এর ‘অ’ পূবববরণব যুক্ত হে এবং ‘র’ ররফ হরে 
পরবরণবর িাথাে বরে। এইেূত্র অনুোরর েমিক উদাহরণমি হে-  
a. েরতা + ঋমি = েরতামিব                  b. েতা + ঋিী = রোতমিব 
c. েত + ঋমি = েতমিব                     d. েত + রঋামি = েতমিব 

 

ii) স্বরেমির রকারনা মনেিই নীরের রকান  শব্দমির রেরত্র প্ররযাজ্য হেমন?  
a. গােক                 b. গরবিণা             c. অত্যন্ত             d. স্বস্বর 

 

iii) অমিকরণ ত্ৎপুরুি েিারের রেরত্র নীরে প্রদত্ত মবকল্পগুমের িরিয রকান মি গ্রহণরযাগয ত্া রেখ।  
a. পরপরদ অমিকরণ কাররকর মবভমক্ত যুক্ত হে ও পরপরদর প্রািানয হে।  
b. পূববপরদ অমিকরণ কাররকর মবভমক্ত েুত হে ও পূববপরদর প্রািানয হে।  
c. পূববপরদ অমিকরণ কাররকর মবভমক্ত েুত হে ও পরপরদর প্রািানয হে।   
d. পূববপরদ অমিকরণ কাররকর মবভমক্ত যুক্ত হে ও পূববপরদর প্রািানয হে।   
 
 

 



iv) েিাে েম্পমকবত্ বািপারশর বক্তরবযর েরে ডানপারশর উত্তরগুমে মিমেরে েমিক উত্তরমি মনববােন করর 
রেখ।  

বাি ডান 
1) বরের েমহত্ বত্বিান = েবে ১) নঞ ত্ৎপুরুি 
2) নে জ্ানা = অজ্ানা ২) মনমিত্ত ত্ৎপুরুি 
3) শত্ অরব্দর েিাহার = শত্াব্দী ৩) েহাথবক বহুব্রীমহ 
4) ছাত্ররদর জ্নয আবাে = ছাত্রাবাে ৪) মিগু 

a. 1(৪), 2(৩), 3(১), 4(২)                  b. 1(১), 2(৪), 3(২), 4(৩)   
c. 1(২), 2(১) 3(৪), 4(৩)                  d. 1(৩), 2(১), 3(৪), 4(২)    

 

v) ‘অিযেন’– এই শব্দমিরত্ রকান  দুমি ধ্বমনর মিেন হরেরছ?  
a. ই + আ = য + আ                      b. ই + অ = য + অ 
c. ঈ + অ = য + অ                       d. ই + আ = য + অ 

 

 SECTION-C : (Main Course Book & Supplementary Reader)  

  3. পািযগল্প রথরক প্রদত্ত প্রশ্নগুমের েমিক মবকল্প উত্তরমি মনববােন করর রেখ। (রয রকারনা ছেমি ) 1×6=6 

i)  িাখন শােকারির গুুঁমির ওপর বোর পর ফমিক কী প্রস্তাব কররমছে?  
a. িাখনরক গুুঁমির ওপর শুইরে রদওো রহাক।  
b. িাখনরক গুুঁমি রথরক রফরে রদওো রহাক।    
c. িাখনরক শুদ্ধ ওই কাি গিারত্ আরম্ভ করা যাক।    
d. িাখনরক মদরেই ওই কাি গিারনা রহাক। 

 

ii)  িন্তবযঃ – রত্ররা-রোদ্দ বছর বেেকারে িাতৃ্ভবন ছািা আর রকারনা অপমরমেত্ স্থান বােরকর পরে নরক 
হরে ওরি। 
কারণ কঃ নারীজ্ামত্র কাছ রথরক উরপো অত্যন্ত দুঃেহ রবাি হে। 
কারণ খঃ োমরমদরকর রেহ-ভােবাোে িন পমরপূণব থারক। 
িন্তবয রকমিক রকান  কারণমি েমিক? 
a. কারণ (ক) মিক মকন্তু কারণ (খ) ভুে             b. কারণ (খ) মিক মকন্তু কারণ (ক) ভুে 
c. কারণ (ক) ও (খ) দুমিই মিক                    d. কারণ (ক) ও (খ) দুমিই ভুে 

 

iii)  ‘ক’ স্তরম্ভর েরে ‘খ’ স্তম্ভ মিমেরে েমিক মবকল্পমি মনববােন করর রেখ।  
‘ক’ স্তম্ভ ‘খ’ স্তম্ভ 

1) মিে রনাবল্ ১) িীরািাত্া 
2) মিরেে রেমভোর ২) রজ্া 
3) মিে িযাকোউড ৩) মনরবমদত্া বামেকা মবদযােে 
4) মিরেে বুে ৪) িাোবত্ী অদ্বিত্ আশ্রি 

a. 1(৪), 2(৩), 3(১), 4(২)                     b. 1(৩), 2(৪), 3(২), 4(১)   
c. 1(২), 2(১) 3(৩), 4(৪)                      d. 1(১), 2(৩), 3(৪), 4(২)     

 

iv)  “রফর মিরথয কথা বেমছে?” – উমক্তমি কার?  
a. ফমিরকর িা।       b. ফমিরকর ভাই।        c. ফমিরকর িািা।         d. ফমিরকর বাবা। 

 

v)  “েববদাই আগুরনর হেকা েেরছ” – আরোেয অংরশ ভাররত্র রকান অঞ্চরের জ্েবােুর কথা বো হরেরছ? 
a. দমেণাঞ্চে।        b. পমিিাঞ্চে।          c. উত্তর- পূববাঞ্চে।        d. পূববাঞ্চে। 
 

 



vi)  মিস্টার স্টামডবর মেমিখামন রকিন মছে?  
a. শুষ্ক ও প্রাণহীনত্া।                    b. শুষ্ক এবং প্রাণহীন। 
c. শুষ্ক এবং েরত্জ্।                     d. শুষ্ক এবং বাস্তব। 

 

vii)  স্বািী মবরবকানন্দ মিে রনাবল্ রক মেমি রেরখন করব ও রকাথা রথরক? 
a. ২৯ জু্োই, ১৮৮৭                    b. ২০ জু্োই, ১৮৯৭ 
c. ২৫ জু্োই, ১৮৯৫                    d. ২৯ জু্োই, ১৮৯৭ 

 

viii)  ঘিনাক্রি অনুোরর েমিক মবকল্পমি মনরদবশ কর।  
১) খাোমেরদর েুর ফমিরকর িুরখ রশানা রগে।  
২) কামত্বক িারে পূজ্ার ছুমি। 
৩) িামির রেহহীন রোরখ ফমিক একমি দুগ্রবহ। 
৪) ফমিক কাশ উৎপািন করর রনৌকার গেুইরত্ বরে মেবামিে। 
a.  ৪, ২, ৩, ১                         b.  ৪, ২, ১, ৩  
c.  ৪, ১, ৩, ২                         d.  ৪, ৩, ২, ১ 

 

4. গল্পগুি রথরক প্রদত্ত প্রশ্নগুমের েমিক উত্তর মনববােন কর। (রয রকারনা োরমি ) 1×4=4 

i) “রত্েরিে রযন রিরেরত্ ঢামেেরন, োবিারন মনমব নইরে িা রির পারব।” – বক্তার রকান   িরনাভাব 
এখারন প্রমত্ফমেত্?                     
a) ভরের িরনাভাব।                     b) েত্কবত্ার িরনাভাব।   
c) ভমক্তর িরনাভাব।                     d) রবপররাো িরনাভাব।   

 

ii) ঘিনা পরম্পরাে শূনযস্থারন েমিক মবকল্পমি মনরদবশ কর।  
রেজ্িাক রুরণর প্ররবশ েববজ্োর বামি, দুগবার মবরুরদ্ধ েুমরর অমভরযাগ , পট মের িাকুিা গল্প কররছন, 
_______________________________________।    
a) পামেত্রদর বাগারন মবরকরে যারব অপু ও দুগবা।  
b) অপুর মদমদর জ্নয িনখারাপ। 
c) অপু বইদতর মনরে পিরত্ বরে 
d) মবিুরজ্রেনী িাছ মবমক্রর পেো মনরত্ আরে।  

 

iii) িন্তবয : দুগবা অপুরক িুখুরজ্যরদর বাগান রথরক নাররকরের বাগরোিা আনরত্ বরেমছে। 
 কারণ: ত্ারদর বামিরত্  জ্বাোমনর খুব অভাব ।  
a) িন্তবয ও কারণ দুরিাই েমিক।                 b) িন্তবয ও কারণ দুরিাই ভুে। 
c) িন্তবয েমিক কারণমি ভুে।                    d) িন্তবযমি ভুে কারণমি েমিক। 

 

iv) গল্প োমজ্রে বোর েিত্া কার অোিারণ মছে?  
a) রাজ্কৃষ্ণ পামেত্                              b) দীনুপামেত্ 
c) রাজু্রাে                                      d) রাজ্কৃষ্ণ োনযাে 

 

v) অপু ও নীেু আতু্রী  ডাইমনর হাত্ রথরক বাুঁোর জ্নয প্রাণভরে রদৌরি পাোে। ত্ারদর এিন অবস্থা রদরখ 
আতু্রী ডাইমন কী বরে?  
a) িুই িমত্ত যাইমন, িামত্ত যাইমন।                 b) িুই িামত্তও যাইমন, িমত্তও যাইমন ।   
c) িুই িমত্তও িামত্তও যাইমন।                    d) িুই িমত্ত যাই, িামত্ত যাইমন।  

 

vi) অিো অপুরক েরে মনরে মগরে নানারকি রখোর মজ্মনে রদখাে।– এর িরিয েবরথরক আিরযবর রখেনা 
রকান মি মছে ? 
a) রবাররর বাুঁদর          b) েুন্দর পুতু্ে         c) মিরনর রঘািা        d) বি রিি-পুতু্ে 

 



 PART – B (DESCRIPTIVE TYPE) 

SECTION-B1 Supplementary Reader/Non-detailed Text 
 

5. মনম্নররখ পদগুমের বযােবাকযেহ েিাে মনণবে  কর। (রয রকারনা োরমি ) 1×4=4 

i)  রান্নাঘরর মজ্মনেপত্র গুমছরে রাখা আরছ।   

ii)  মনজ্বন অররণয িুমনর বেবাে।   

iii)  বামির োিরনই নবগ্রহ িমন্দর।   

iv)  লেচিলি লর্শ র্াকারু্চকা স্বভাচর্র।   

v)  লমচ লি আগাচগা়িা পরীক্ষা  প্রথম হচ  এচসচে।   

vi)  মল্চর অষ্টধাতুর মূলতব লর্রােমান।   

 

6.  েমি মবরিদ কর। (রয রকান মত্নমি) 
i) বযথব                ii) ত্ন্বী                  iii) ত্দ্বথবে               iv) অত্ীত্ 

1×3=3 

7. েমিবদ্ধ কর। (রয রকান মত্নমি) 
i) েঘু + ঊমিব          ii) পর + উপকার       iii) শ্রী + ঈশ             iv) শীত্ + ঋত্ 

1×3=3 

 
8. 

SECTION-C  

(Main Course Book & Supplementary Reader 
প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া : 
“ ফলিক আমার হা়ি জ্বািাতন কলর াচে।”  
র্ক্তা লক ? কাচক কী কারচণ একথা র্চিচেন ? 
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9. প্রশ্ন দুমির উত্তর লিচ া : 
i) ‘উৎসাচহ তাহার রাচত্র লনদ্রা হ না ’   
কার প্রসচঙ্গ এ কথা র্িা হচ চে? লকন তার এইরূপ অর্স্থা হচ লেি? 
ii) ‘তাাঁর সচঙ্গ মালনচ  েিা অসম্ভর্।’  
লক, কার প্রসচঙ্গ কাচক একথা র্চিচেন ? একথা র্িার কারণ কী ? 

3×2=6 

10. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া : 
“ লর্ধর্া এ প্রস্তাচর্ সহচেই সম্মত হইচিন।”- লকান প্রসচঙ্গ আচিােয অাংচশর অর্তারণা? লর্ধর্া লকন 
সহচেই সম্মত হন? 

অথর্া, 
“লকন্তু লর্ঘ্নও আচে র্হু”- লকান ঘিনার পলরচপ্রলক্ষচত র্ক্তা একথা র্চিন? র্ক্তা কী কী লর্চঘ্নর উচে  
কচরচেন ত্াুঁর রেনালি অর্িম্বচন আচিােনা কচরা? 

2+3=5 

11. স-প্রসঙ্গ র্যা যা লিচ া :          
 “লস র্ন-লর্হগ কাাঁলদচত োচন না, লর্দনার ভাষা নাই, 
     র্যাচধর শা ক রু্চক লর্াঁলধ াচে োচন তার লর্দনাই।” 
                অথর্া 
 “পৃলথর্ীচত কত িন্দ্ব, কত সর্বনাশ, 
    নূতন নূতন কত গচ়ি ইলতহাস।” 
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12. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া : 
“অনিকাি যাচদর লর্দনা রলহ াচে শুধু রু্চক, 
এ লদচশর কলর্ রাচ  নাই যাহা মুচ র ভাষা  িুচক” – ‘যাচদর লর্দনা’ র্িচত কাচদর কথা র্িা হচ চে? 
এ লদচশর কলর্ তাচদর লর্দনা মুচ র ভাষা  িুচক রাচ নলন লকন? 

অথর্া 

2+3=5 



“রক্তপ্রর্াচহর মাচি লফনাই া উচঠ 
লসানার মুকুি কত ফুচি আর িুচি” – ‘লফনাই া উচঠ’—র্িচত কলর্ কী লর্ািাচত লেচ চেন?  
লসানার মুকুচির প্রসঙ্গই র্া লকন এচসচে? 

13. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া : 
“ কথািা ভালর্চতই তাহার গা লশহলর া উলঠ া সর্বশরীর লযন অর্শ হই া লগি।”-লকান কথািার কথা র্িা 
হচ চে ? উলিষ্ট র্যলক্তর এমন অর্স্থা হও ার লপেচন কী কারণ রচ চে র্চি লতামার মচন হ  ? 

2+3=5 

14. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া : 
“ এই বইখামনরত্ই একমদন রে পমিে বি অদু্ভত্ কথািা।”- অদু্ভত্ কথািা কী মছে? ত্ারক রক কীভারব 
বাস্তরব পমরণত্ কররত্ যাে? 

অথর্া, 
“তাহার মচন হ  যুে লেলনসিা মহাভারচত র়্ি কম লি া আচে।”- কার, ক ন এমন মচন হত?  
যুচের অভার্ পূণব করার েনয লস কী উপা  অর্িম্বন কচরলেি? 

2+3=5 

15. লনম্নলিল ত লযচকাচনা একলি লর্ষ  অর্িম্বচন সাংর্াদপচত্র প্রকাচশর উপযুক্ত একলি প্রলতচর্দন রেনা কচরা।   
(১৫০ শরব্দ) 
i) ‘েরকামর হােপাত্ােগুরোে মশশুমবভারগর করুণ দশা’ - এই মবিরে েংবাদপরত্রর জ্নয একমি 
প্রমত্রবদন রেনা কর।  
ii) ‘পুরসভার উচদযাচগ লনলষে হচ চে প্লালস্টক র্যাগ’-এ লর্ষচ  একলি প্রলতচর্দন রেনা কর। 
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16. লনম্নলিল ত লযচকাচনা একলি লর্ষ  অর্িম্বচন লর্জ্ঞলি রেনা কচরা। 
i) লতামাচদর লর্দযািচ  োতী  স্তচরর ক্রী়িা প্রলতচযালগতার আচ ােন করার েনয লস্বোচসর্ক 
(Volunteer) প্ররোজ্ন। োত্র-োত্রীচদর লস্বোচসর্ক লহসাচর্ নাম নলথভুক্ত করার লনচদবশনা প্রদান কচর 
ক্রী়িা অলধনা ক লহসাচর্ একলি লর্জ্ঞলি রেনা কচরা। 
ii) স্বাধীনতা লদর্চস লর্দযািচ  পথ লশশুচদর মচধয র্ই,  ার্ার ও লপাশাক লর্তরণ করা হচর্। লর্দযািচ র 
োত্র প্রলতলনলধ লহচসচর্ োত্র-োত্রীচদর লযাগদান করার আহ্বান োলনচ  একলি লর্জ্ঞলি োলর কচরা। 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST II 

SESSION: 2024-2025 

Class: IX                                                                            Maximum Marks: 80 

Subject: Communicative English (101)                          Time: 3 Hours 

_________________________________________________________________ 
 General Instructions:  

1. 15-minute prior reading time allotted for Q-paper reading. 

2. The Question Paper consists of SIX pages and is divided into FOUR sections – READING SKILL, 

WRITING SKILL, GRAMMAR and LITERATURE. 

3. Write the same serial number against your answer as per the question paper.  

4. Attempt questions based on specific instructions for each part. 

 

SECTION A – READING SKILL (20 MARKS) 
1. Read the passage carefully.                                                                                     10 marks 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

i. 

ii. 

A. Scuba diving and snorkeling are two popular activities that allow people to explore the 

underwater world, each offering unique experiences and opportunities for adventure. While 

both involve being immersed in the water and observing marine life, there are distinct 

differences between the two. 

 

B. Scuba diving is a more immersive experience that allows divers to explore deeper depths 

and stay underwater for longer periods. With the aid of specialized equipment such as scuba 

tanks, regulators, and buoyancy control devices, divers can descend to greater depths and 

explore underwater landscapes that are inaccessible to snorkelers. The ability to breathe 

underwater opens up a whole new world of marine life and underwater formations, 

providing divers with unforgettable experiences and opportunities to encounter creatures 

such as colorful fish, vibrant coral reefs, and majestic sea turtles. 

 

C. On the other hand, snorkeling is a more accessible and less equipment-intensive activity that 

appeals to a wider range of people. Snorkelers typically stay near the water's surface, using 

a mask, snorkel, and fins to observe the underwater world from above. While snorkeling 

may not offer the same depth and duration of immersion as scuba diving, it still provides 

plenty of opportunities to witness the beauty of marine life up close. Snorkelers can swim 

alongside schools of fish, explore shallow reefs, and marvel at the vibrant colors and 

patterns of coral formations. 

 

D. Both scuba diving and snorkeling offer unique perspectives on the underwater world, 

allowing enthusiasts to connect with nature in a way that is both exhilarating and awe-

inspiring. Whether diving to great depths or snorkeling in shallow waters, the experience of 

exploring beneath the surface is unmatched in its ability to captivate and inspire. From the 

vibrant colors of tropical fish to the serenity of underwater landscapes, each dive or snorkel 

excursion offers a chance to escape the ordinary and immerse oneself in the extraordinary 

beauty of the ocean. 

 

E. In conclusion, scuba diving and snorkeling are two distinct activities that share a common 

goal of exploring the underwater world. While scuba diving offers the opportunity to 

descend to greater depths and interact with marine life on a more intimate level, snorkeling 

provides a simpler and more accessible way to observe the wonders of the ocean from the 

surface. Whether diving into the depths or snorkeling along the shore, both activities offer 

unforgettable experiences and opportunities for adventure beneath the waves. 

On the basis of your reading of the passage, answer the following questions: 

What is the common goal of the two popular activities scuba diving and snorkeling? 

Write two benefits offered by scuba diving. 
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iii. 

iv. 

v. 

vi. 

vii. 

 

 

 

 

viii 

 

ix. 

 

 

 

x.  

 

 

 

 

 

 

 

 

 

2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

i. 

 

Why does snorkeling appeals to a wider range of people? 

How does snorkeling compensate for the fact that it is less immersive than scuba diving? 

State two ways by which snorkeling and scuba diving can add adventure in our lives. 

riveting: interesting :: thrilling : __________(Refer to para-D) 

Which out of the following is NOT offered by scuba diving? 

A. Allow enthusiasts to connect with nature in an exhilarating and awe-inspiring way 

B. Enable the adventure loving enthusiasts to explore the underwater world 

C. Offer unforgettable experiences and opportunities for adventure beneath the waves 

D. Explore shallow reefs and marvel at the vibrant colours and patterns of coral formations 

What allows a scuba driver to descend to greater depths and explore underwater landscapes? 

         A. masks                  B. scuba tanks                 C. snorkel                         D. fins 

Substitute the underlined word in the following sentence with the most appropriate option  

      that means the same. Refer to Paragraph D. 

     Anita would go to the bookshops and engross herself in mystery and thriller books. 

       A. Connect          B. Captivate                C. Escape                  D. Immerse 

Directions: In the following stanza, a statement of Assertion (A) is followed by a statement  

     of Reason (R). 

    Assertion: Scuba diving opens up a whole new world of marine life. 

Reason: Scuba diving is a much immersive experience. 

Choose the correct option to figure out the reason of given assertion. 

A. Both (A) and (R) are true, and (R) is a correct explanation of (A). 

B. Both (A) and (R) are true, but (R) is not a correct explanation of (A). 

C. (A) is true, but (R) is false. 

D. (A) is false, but (R) is true. 

 

Read the following passage. 

A. Your personality influences everything from the friends you choose to the candidates you 

vote for in a political election. Yet many people never really spend much time thinking about 

their personality traits. 

B. Understanding your personality can give insight into your strengths and weaknesses. It can 

also help you gain insight into how others see you. Most modern-day psychologists agree 

there are five major personality types. Referred to as the "five factor model," everyone 

possesses some degree of each. 

C. People who rank highest in conscientiousness are efficient, well-organized, dependable, and 

self-sufficient. They prefer to plan things in advance and aim for high achievement. People 

who rank lower in conscientiousness may view those with this personality trait as stubborn 

and obsessive. 

D.  People who rank high in extroversion gain energy from social activity. They're talkative, 

outgoing and they're comfortable in the spotlight with heterogeneous group of people. 

Others may view them as domineering and attention-seeking. 

E. Those who rank high in agreeableness are trustworthy, kind, and affectionate towards others. 

They're known for their pro-social behavior and they're often committed to volunteer work, 

for their accommodating quality and altruistic activities. Other people may view them as 

naïve and overly passive. 

F. People who rate high in openness are known for their broad range of interests, risk seeking 

factor and vivid imaginations. They're curious, creative and they usually prefer variety over 

rigid routines. They're known for their pursuits of self-actualization through intense, 

euphoric experiences like meditative retreats or living abroad. Others may view them as 

unpredictable and unfocused. 

G. Neurotic people experience a high degree of emotional instability. They're more likely to be 

reactive and excitable and they report higher degrees of unpleasant emotions like anxiety and 

irritability. Other people may view them as unstable and insecure. 

Based on your understanding of the passage, answer the following questions 

Explain in a sentence why everybody must know their own personality? 
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ii. 

 

 

iii. 

 

iv. 

v. 

 

vi. 

 

vii. 

 

 

viii. 

 

 

 

 

 

ix. 

 

 

 

 

 

 

x. 

 

If a student plans his study time, pleasure reading time, screening time and gaming time well 

in advance and systematically so that he/she achieves desired result, what sort of personality 

trait does he/ she has? 

Complete the sentence on the basis of your understanding 

A personality that is emotionally unstable, reactive and irritable can be called ___________. 

State how volunteering to help others is often viewed differently in the society? 

Which word in Para E means ‘having or showing an unselfish concern for the welfare of 

others’ 

State one positive quality of the person whom others view as ‘unpredictable’ and 

‘unfocussed’. 

Which of the following personality traits is associated with being outgoing and talkative? 

  A. Introversion          B. Extroversion         C. Agreeableness         D. Conscientiousness 

 

Who is most likely to take risks and seek adventure? 

A. Individual with a high level of neuroticism       

B. Individual with a high level of agreeableness 

C. Individual with a high level of conscientiousness 

D. Individual with a high level of openness to experience 

 

Resilience means ability to continue the fight or struggle. 

Based on the understanding of the statement, which of the following is a key characteristic of 

resilience? 

A. Ability to bounce back from adversity                 B. Tendency to avoid challenges 

C. Tendency to worry excessively                            D. Inclination to be overly self-critical 

 

A person can adjust with someone who has a different work style and can also adapt to a new 

environment. What quality does he/she possess? Choose the most appropriate answer from the 

given options. 

A. Extroversion and Introversion                             B. Extroversion and Agreeableness 

C. Introversion and Conscientiousness                    D. Introversion and Agreeableness 
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SECTION B – WRITING SKILL (24 MARKS) 

 
Your school is hosting a health and wellness workshop for students. Write a notice to be 

displayed on the school notice board detailing about workshop’s date, time, venue and the 

topics to be discussed along with the registration requirements. (Word Limit: 50 words) 

 

Often found staring at the pages of a thick paperback, avid book readers are the best co-

passengers you can find on a train. Write a dialogue based on the conversation you had with 

an elderly man in his 50s whom you found reading your favourite novel while you were 

traveling back home by train. (Word Limit: 100 words) 

 

 

A creative writing competition was organized by your school. Renowned writer Chetan Bhagat 

was the chief guest of the programme. He told the students about his life and career. His speech 

was very motivational. He encouraged the students to pursue creative writing as a career. You 

have decided to share your experience of the interaction with your childhood friend. Write a 

letter in about 120 words describing your experience with the famous writer. 

(Word Limit: 120 words) 

 

Stargazing while camping is one of the most relaxing night time activities. Recently you have 

enjoyed a blissful stargazing and camping experience in Panchgani, Mumbai with your friends 
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and family. Taking ideas from MCB Unit 2 - ADVENTURE and using your own ideas write 

a paragraph on ‘Exploring the night sky-A Stargazing Adventure’in about 150 words 

describing the memorable experience you had while stargazing and camping, including the 

location, the people accompanied you in the trip. 

OR 

Clothing retailers like Zara, Forever 21, and H&M make pocket friendly and fashionable 

clothing to satisfy the need of young consumers. Yet, fast fashion like such has a significant 

environmental impact. According to the UN Environment Programme (UNEP), these industries 

are the second-biggest consumer of water and are responsible for about 10% of global carbon 

emissions – more than all international flights and maritime shipping combined. Unfortunately, 

fast fashion hazards are often overlooked by consumers. Write a paragraph in not more than 

150 words on 'Fast Fashion and Its Environmental Impact'.  

(Refer to MCB Unit 3 - ENVIRONMENT) 

 

SECTION C – GRAMMAR (10 MARKS) 
Fill in the blanks given below by choosing the most appropriate options. 

 

Most Indian schools fail to ensure their students adequate playtime and fitness regime. Two out 

of every five school going children i._____have a healthy Body Mass Index (BMI) and 50%  

ii. _____ adequate lower body strength. Some schools iii. _____ found to offer three or more 

physical education periods per week. 

i.   A. does                 B. does not                        C. don’t                         D. do   

ii.  A. lack                  B. lacked                          C. have lacked               D. had lacked 

iii. A. was                  B. are                                C. is                               D. have 

 

The following passage has not been edited. There is an error in each line. Write the 

incorrect word and the correction, against the correct question number, in your answer 

sheet. 

                                                                                            Error                      Correction  

The year 2012 marks the 50th anniversary for            i.  ________                ___________ 

the James Bond films. A first James Bond                  ii. ________                ___________ 

move title, 'Dr No' was released in 1962.                   iii. ________                ___________ 

Numerous events was held for fans over the world.  iv. _________               ___________ 

 

 

Rearrange the following jumbled words/phrases in the given information to create a 

meaningful sentence. 

Physical Education is imparted in playgrounds and campus. 

games/student/is/by/it/method/which/through/a/activities/a/goes/and/physical. 

 

Report the dialogue to complete the paragraph that follows.  

Madhavi: You seem so tired. Take some rest. 

Jay: I can’t even think of relaxing. I have a project to complete. 

Madhavi: You should not take so much stress. 

Jay: Don't worry. I will complete it easily. 

 

Madhavi noticed that Jay seemed i. ______Jay replied that ii. _______ Madhavi further advised 

him not to take so much stress. Jay told Madhavi not to worry and reassured him that he would 

complete it easily.  
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i. 

 

 

SECTION D – LITERATURE (26 MARKS) 

Read the given excerpts and answer the questions briefly, for ANY TWO excerpts of the 

three (A, B & C), given below. 

“She said, “I am touching the feet of a teacher, not my granddaughter; a teacher who taught 

me so well, with so much of affection that I can read any novel confidently in such a short 

period. Now I am independent. It is my duty to respect a teacher. Is it not written in our 

scriptures that a teacher should be respected, irrespective of the gender and age? 

I did return namaskara to her by touching her feet and gave my gift to my first student. She 

opened it and read the title Kashi Yatre by Triveni and the publisher’s name immediately. 

I knew, then, that my student had passed with flying colours.”  

(How I Taught My Grandmother to Read) 

i. Why did the speaker feel a sense of duty towards respecting the teacher? 

ii. Select a word/phrase from the extract that stands closest in meaning of ‘marvelous 

     performance’ 

iii. Why did Sudha choose to gift the novel Kashi Yatre instead of anything else to her 

      grandmother? 

iv. What is the overall tone of the extract? 

 

But even Duke’s presence didn’t reach Chuck. The once-iron muscles slacked on the rangy 

frame. Secretly, Marcy cried as she watched the big man’s grin fade away. Severe face lines set 

in like cement as Chuck stared at the ceiling for hours, then out of the window, then at Duke. 

(A Dog Named Duke) 

 

i. What might be the reason for which Duke’s presence didn’t reach Chuck? 

ii. Identify the phrase from the extract that contributes to Chuck’s current condition.  

(Any one) 

iii. What do you infer from the phrase, ‘Severe face lines set in like cement’? 

iv. Substitute the underlined word in the following sentence with an opposite word from the 

     above extract. 

     She tightened the straps of her backpack to ensure it fit securely. 

                                                                     

Whate'er the theme, the Maiden sang 

As if her song could have no ending; 

I saw her singing at her work, 

And o'er the sickle bending; — 

I listened, motionless and still; 

And, as I mounted up the hill, 

The music in my heart I bore, 

Long after it was heard no more. 

(The Solitary Reaper) 

i.  Why did it appear to the poet that the maiden’s song was never-ending? 

ii.  Identify the tone of the poet in the line, ‘Whate’er the theme, the maiden sang’. 

iii. State a possible reason, why the poet choose to remain motionless and still. 

iv. What do you infer from the line, ‘The music in my heart I bore’? 

 

Answer ANY SIX of the following seven questions in about 30-40 words each. 

The Solitary Reaper' is a superb panorama of thoughts/emotions that slowly and silently 

glides from one to the other. Briefly comment on the poet's various thoughts that occurred in 

the poet’s mind throughout the poem. 

    4+4=8 
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'Kashi Yatra,' was the catalyst in the transformation of grandmother to a more enlightened and 

accepting person. Support with an example from the story. 

 

Explain how the repetition of the word ‘chatter’ enhances the theme of the poem, The Brook. 

 

We must remain grounded, down-to-earth, even if we are a storehouse of knowledge, we must 

keep it to ourselves until asked for. How does the perspective emphasize the value of humility 

in sharing our knowledge. Answer with reference to the nature of Private Quelch. 

 

In the play "Villa for Sale", who is a better business person – Juliette or Gaston? Substantiate 

with example from the text. 

The poem ‘Road Not Taken’, carries a tinge of regret. Do you agree? Explain with valid 

reasons.  

Brook mirrors the journey of human beings however; the poet draws a sharp contrast between 

human life and the Brook. Illustrate the contrast with valid evidences from the poem to 

support your stance.        

                             

Answer ANY ONE of the following two questions in about 120 words. 

 

 

Suppose Marcy and Chuck wish to make a biopic of Duke. Chuck decided to write a document 

on Duke’s impact and contribution in his life that was directly observed by Marcy. Consider 

yourself as Chuck and write in detail about Duke’s personality, positive attitude and sacrifice 

that made a big difference in your life. 

OR 

You are one of the privates who witnessed the assignment of Private Quelch to permanent cook 

house duty. On the day of Corporal Turnbull’s retirement, you delivered a speech admiring the 

knowledge of Private Quelch and how judicious was the decision taken by Corporal Turnbull. 

Answer the question with reference to the story, ‘The Man Who Knew too Much’.                                                                
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DAV INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST– II 

SESSION: 2024-2025 
Class: IX                                                                                             Maximum Marks: 80 

Subject: Hindi                                                                   Time: 3 Hours 

सामान्य निरे्दश : 
1. 8 पषृ्ठ के इस प्रश्िपत्र में चार खंड हैं- खंड 'क', 'ख', 'ग' और 'घ'।     
2. प्रश्िपत्र के चारों खंडों में प्रश्िों की संख्या 15 है, और सभी प्रश्ि अनिवायय हैं।  
3. दर्दए गये निरे्दशों का पालि करते हुए सभी प्रश्िों एवं उपप्रश्िों के उत् तर ललखिा अनिवायय है। 
 

खंड-क (अपदठत बोध)  
1.  निम्िलिखित गदयाशं पर आधाररत बहुविकल्पी प्रश्िों के सिााधधक उपयुक्त विकल्प का चयि 

करके ललखखए, एवं दर्दए गये प्रश्िों का उत्‍तर ललखखए:— 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

सफलता चाहने वाले मनषु्य का प्रथम कर्त ततव्य यह देखना है कक उसकी रुचच ककन कायों की 
ओर अचिक है। यह बात ग़लत है कक हर कोई मनुष्य हर एक काम कर सकता है। लॉर्त 
वेटरफील्र् स्वाभाववक प्रवतृ्र्त तयों के काम को अनावश्यक समझते थे, और केवल पररश्रम को ही 
सफलता का आिार मानते थे। इस ससद िाांत के अनुसार उन्होंने अपने बटेे स्टेनहोप को, जो 
सुस्त, ढीला-ढाला, असाविान था, उसे सर्तपुरुष बनाने का प्रयास ककया। वषों पररश्रम करने के 
बाद भी लड़का ज्यों का र्तयों रहा और जीवन भर योग्य न बन सका। बचपन के कामों को 
देखकर बताया जा सकता है कक बच्चा ककस प्रकार का मनुष्य होगा। प्राय: यह सांभावना प्रबल 
होती है कक छोटी आयु में कववता करने वाला कवव, सेना बनाकर चलने वाला सेनापतत, पुजे 
कसने वाला मैकेतनक और ववज्ञान में रुचच रखने वाला वैज्ञातनक बनेगा। जब यह बात ववददत 
हो जाए कक बच्चे की रुचच ककस काम की ओर है, तब यह करना चादहए कक उसे उसी ववषय 
की ऊँची सिक्षा ददलाई जाए। ऊँची सिक्षा प्राप्त करके मनुष्य अपने काम-िांिे में कम पररश्रम से 
अचिक सफल हो सकता है। प्रर्तयेक मनुष्य में एक वविेष कायत को अच्छी तरह करन ेकी ित्तत 
होती है।  

 

(क) लॉडय वेटरफील्ड का लसद धांत क्या था?  (1)  
       (A) मनुष्य एक काम कर सकता है।       
        (B) कववता करने वाला कवव होता है।  
       (C) पररश्रम ही सफलता का आिार है।  
       (D) सेना बनाकर चलने वाला सेनापतत होता है।  

 

 

 

 

 

 

(1) 

 

 

 

 

 

 

 

 

 

(ख) गद यांश में ककस बात को ग़लत ठहराया गया है?  
        (A) मनुष्य वैज्ञातनक बन सकता है।  
         (B) मनुष्य अपना व्यवसाय चुन सकता है।  
        (C) हर कोई मनुष्य हर एक काम कर सकता है।  
        (D) मनुष्य अपने कायों में सफल नहीां हो सकता है।  
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(ग) कथि और कारण को पढ़कर उधचत विकल्प का चयि करके लिखिए:—  (1) 
       कथि : सफलता चाहने वाले मनुष्य को अपनी रुचच के कायों में ऊँची सिक्षा ददलानी  

                        चादहए।  

       कारण : ऊँची सिक्षा प्राप्त कर मनुष्य अपने काम-िांिे में कम पररश्रम से अचिक  
              सफल हो सकता है। 
       ववकल्प  

       (A) कथन ग़लत है, क िं तु  ारण सही है। 
         (B) कथन सही है, क िं तु  ारण ग़लत है। 
         (C)  थन और  ारण दोनों सही हैं, तयोंकक  ारण  थन की व्याख्या  रता है।  
         (D)  थन और  ारण दोनों सही हैं, क िं त ु ारण  थन की व्याख्या नहीिं  रता है। 
(घ) (i) गद यांश में सफलता चाहिे वाले मिुष्य के बारे में क्या कहा गया है?  (1)  

    (ii) लॉडय वेटरफील्ड स्टेिहोप का बेटा कैसा था?  (1) 

(ङ ) बालक आगे चलकर कैसा मिुष्य बिेगा, आपके ववचार से इसका अिुमाि ककस प्रकार  
    लगाया जा सकता है? स्पष्ट कीजजए।   
 

(2) 

2.  निम्िलिखित कावयांश पर आधाररत बहुविकल्पी प्रश्िों के सिााधधक उपयुक्त विकल्प का चयि 
करके ललखखए, एवं दर्दए गये प्रश्िों का उत्‍तर ललखखए:—  

 

   ‘फ़सल’ ककसान के कच्चे-अिपके                      
  सपनों की लहलहाती आस है  
  यह उसके हृदय की गहराइयों में,  
  अांकुररत एक ववश्वास है।  
  यह ववश्वास है  
  ढही हुई दीवार की चचनाई का,  
  अट्ठारह पार कर चुकी बेटी की सगाई का।  
  परचूतनए की उिारी चुकाने का  
  मन के सपनों को नए पररिान पहनाने का  
  इसी ववश्वास की सलामती के सलए  
  यह मूँदता है आँखें  
  ददन में न जाने ककतनी बार— 
  और दआुएँ प्रेवषत करता है ऊपर तक  
  भरोसे और आिांका की रस्साकिी में  
  न जाने ककतनी बार वह जागता है नीांद से।  
  और जगा देना चाहता है उस परमार्तमा को भी,  
  त्जसके बारे में सुनता आया है सभी कुछ उसके ही हाथ है— 
  इससलए जब फ़सल सौंचियाती है 
  असल में, ककसान के सपने सौंचियाते हैं  
  और फ़सल घर जाने पर, सपने पक जाते हैं। 
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 (क) ‘र्दआुएँ प्रेवित करता है ऊपर तक’‍पंजक्त का आशय है—  (1) 
            (A) ईश्वर को प्रसन्न करने के सलए व्रत-उपवास रखना।  
            (B) समलकर यज्ञ करके फसल की कुिलता की कामना करना।  
            (C) तनवेदन को ग्रामीण ववकास से जुड़े अचिकाररयों तक पहँुचाना। 
            (D) फ़सल की कुिलता के सलए मन ही मन ईश्वर से प्राथतना करना। 

 

 

 

 

 

 

(1) 

 

 

 

 

 

 

 

 

 

(1) 

(ख) ‘भरोसे और अशंका की रस्साकशी में’‍पंजक्त के आधार पर ककसाि की मिोर्दशा से जुड़ा  
    उचचत ववकल्प है—  
     (A) ईश्वर पर अटूट ववश्वास कक वे फ़सल को कोई हातन नहीां होने देंगे।   
        (B) ईश्वर पर ववश्वास, ककां तु फ़सल की कुिलता को लेकर मन आिांककत रहेगा।   
        (C) पररश्रम पर पूणत ववश्वास, ककां तु भाग्य में तया सलखा है, इससे सदा आिांककत रहेगा।       
       (D) स्वयां पर भरोसा करना, ककां तु प्राकृततक आपदाओां की आिांका से सदैव भयभीत बना  
        रहेगा।  
(ग) कथि और कारण को पढ़कर उधचत विकल्प का चयि करके लिखिए:— 

       कथि : ककसाि अपिी फ़सल के साथ भावात्मक रूप से जुड़ा होता है।  
      कारण : ककसाि को अधपके फ़सल अच्छे लगते हैं।  
       ववकल्प  

       (A) कथन ग़लत है, क िं तु  ारण सही है। 
         (B) कथन सही है, क िं तु  ारण ग़लत है। 
         (C)  थन और  ारण दोनों सही हैं, तयोंकक  ारण  थन की व्याख्या  रता है।  
         (D)  थन और  ारण दोनों सही हैं, क िं त ु ारण  थन की व्याख्या नहीिं  रता है। 
(घ) (i) ‘ि जािे ककतिी बार वह जागता है िींर्द से’‍कावयांश में ‘वह’‍ककसके ललए प्रयुक्त  
       हुआ है?   

(1) 

    (ii) ‘वह’‍के सपिे ककस प्रकार सौंचधयाते हैं?  (1) 
 (ङ ) फ़सल को ककसािों के कच्चे-अधपके सपिों की लहलहाती आस कहि ेका क्या कारण हो  

    सकता है? 

 

(2)  

खंड-ख (वयावहाररक वयाकरण) 
3.  उपसगय-प्रत्यय पर आधाररत प्रश्िों में से ककन्हहं चार प्रश्िों के उत् तर ललखखए:— (1×4=4) 

 (क) ‘ईय’ प्रर्तयय से एक िब्द बनाकर सलखखए।    
(ख) ‘उर्तथान’ िब्द में से उपसगत छाँटकर सलखखए।    
(ग) ‘पररवर्त ततन’ िब्द से उपसगत, मूल िब्द और प्रर्तयय अलग करके सलखखए।  
(घ) सांज्ञा, सवतनाम तथा वविेषण के अांत में लगने वाले प्रर्तयय को तया कहते हैं?  
(ङ ) ‘गमन’ िब्द को ववपरीताथतक िब्द बनाने के सलए आप ककस उपसगत का प्रयोग करेंगे?  

4. समास पर आधाररत प्रश्िों में से ककन्हहं चार प्रश्िों के उत् तर ललखखए:—   (1×4=4) 

 (क) ‘द वांद व समास’ में कौन-सा पद प्रिान होता है?   
(ख) ‘मतानुसार’ समस्तपद का समासववग्रह करके समास के भेद का नाम सलखखए।  
(ग) ‘अजातितु्र’ समस्तपद का समासववग्रह करके समास के भेद का नाम सलखखए।  
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(घ) सामाससक पद ‘ववषिर’ का समासववग्रह करके समास के भेद का नाम सलखखए।  
(ङ ) ‘त्रत्रलोचन’ ने कामदेव को भस्म कर ददया था।  
                   (रेखाांककत पद का समासववग्रह करके समास के भेद का नाम सलखखए।)  
 

5. अथय के आधार पर वाक्यभेर्द पर आधाररत प्रश्िों में से ककन्हहं चार प्रश्िों के उत् तर ललखखए:—   (1×4=4) 

 (क) रीता बहुत ज़ोर से हँस रही है।             (ववस्मयसूचक वातय में बदलकर सलखखए।)    
(ख) र्ॉतटर समल गये, और उसके प्राण बच गये।        (इच्छावाचक में बदलकर सलखखए।)    
(ग) वह नेपाल से ततब्बत जाने का मुख्य रास्ता था।  
                                 (अथत के आिार पर वातय के भेद का नाम सलखखए।)  
(घ) प्रश्नवाचक वातय का एक उदाहरण सलखखए।  
(ङ ) मैं आज तुम्हारे घर जाऊँगा।  
      (वातय को तनषेिवाचक वातय में बदलने के सलए ककस िब्द का प्रयोग ककया जाएगा?)  
 

6.  अलंकार पर आधाररत प्रश्िों में से ककन्हहं चार प्रश्िों के उत् तर ललखखए:—   (1×4=4) 

 (क) या मुरली मरलीिर की अिरान िरी अिरा न िरौंगी।  
(ख) कासलांदी कुल कदांब की र्ारन। 
(ग) को घदट ये वषृभानुजा, वे हलिर के वीर। 
(घ) मिुबन की छाती को देखो, सूखी इसकी ककतनी कसलयाँ।  
(ङ ) जहाँ एक ही िब्द की आवतृ्र्त त हो और उसके अथत अलग-अलग हों, वहाँ कौन-सा अलांकार  
    होता है?   
 

खंड-ग  (पाठ्यपुस्तक एवं पूरक पाठ्यपुस्तक)  
7.  निम्िललखखत गदयांश पर आधाररत बहुववकल्पी प्रश्िों के सवायचधक उपयुक्त ववकल्प को चुिकर  

ललखखए:— 
(1×5=5) 

 जदटल प्राखणयों के सलए सासलम अली हमेिा एक पहेली बन ेरहेंग।े बचपन के ददनों में, उनकी 
एयरगन से घायल होकर चगरने वाली, नीले कां ठ की वह गौरैया सारी त्ज़ांदगी उन्हें खोज के नए-
नए रास्तों की तरफ़ ले जाती रही। त्ज़ांदगी की ऊँचाइयों में उनका ववश्वास एक क्षण के सलए भी 
डर्गा नहीां। वो लॉरेंस की तरह, नैसचगतक त्ज़ांदगी का प्रततरूप बन गये थे।  
सासलम अली प्रकृतत की दतुनया में एक टापू बनने की बजाए अथाह सागर बनकर उभरे थे। जो 
लोग उनके भ्रमणिील स्वभाव और उनकी यायावरी से पररचचत हैं, उन्हें महसूस होता है कक वो 
आज भी पक्षक्षयों के सुराग में ही तनकले हैं, और बस अभी गले में लांबी दरूबीन लटकाए अपने 
खोजपूणत नतीजों के साथ लौट आएँगे।  

 

 (क) ककस घटिा के कारण साललम अलह का जीवि बर्दल गया?   
        (A) जीवन पहेली बन गयी थी।         

            (B) खोज के नये-नये रास्तों पर चल पड़े थे।           

            (C) पक्षक्षयों के खोज के नतीज़े पूणत नहीां हुए थे। 
            (D) उनकी एयरगन से घायल होकर नीले कां ठ की गौरैया चगर पड़ी थी।  
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(ख) गद यांश में पहेलह बििे की बात ककसके ललए की गयी है?  
        (A) जदटल प्राखणयों के सलए।                   (C) सासलम अली के सलए।      

            (B) गौरैया पक्षी के सलए।              (D) प्राकृततक दतुनया के सलए।   
(ग) कथि और कारण को पढ़कर उधचत विकल्प का चयि करके लिखिए:— 
       कथि :  ज ंर्दगी की ऊँचाइयों में साललम अलह का ववश्वास एक क्षण के ललए भी डडगा  
              िहहं। 
       कारण : साललम अलह अथाह सागर बिकर उभरे थे।  
     ववकल्प  

         (A) कथन ग़लत है, क िं तु  ारण सही है। 
         (B) कथन सही है, क िं तु  ारण ग़लत है। 
         (C)  थन और  ारण दोनों सही हैं, तयोंकक  ारण  थन की व्याख्या  रता है।  
         (D)  थन और  ारण दोनों सही हैं, क िं त ु ारण  थन की व्याख्या नहीिं  रता है। 
(घ) ‘िैसचगयक ज ंर्दगी के प्रनतरूप’ कथि से साललम अलह के वयजक्तत्व का कौि-सा पहलू  
    उ ागर होता है?  
             (A) अथाह सागर बन जाना।            (C) खोज के सलए तर्तपर रहना।       

             (B) गौरैया पक्षी का चचांता करना।    (D) प्रकृतत के प्रतत समवपतत होना।   

(ङ) गद यांश में साललम अलह द वारा ककस कारण से गले में लंबी र्दरूबीि लटकाए रखिे की  
   बात कहह गयी है?  

         (A) अथाह सागर को नापा करते थे।  
        (B) आसमान में ससतारों को देखा करते थे।  
        (C) नये-नये रास्तों का पता लगाया करत ेथे।  
        (D) दरू-दराज बैठे पक्षक्षयों के सूक्ष्म तनरीक्षण ककया करते थे। 
  

 

8.  निम्िललखखत प्रश्िों में से ककन्हहं तीि प्रश्िों के उत् तर लगभग 25 से 30 शब्र्दों में ललखखए:—  (2×3=6) 

 (क) ततब्बत में यात्रत्रयों के सलए त्जन अच्छी बातों का वणतन ककया गया है, उन्हें अपने िब्दों  
    में सलखखए।  

 

(ख) ‘दो बैलों की कथा’ अध्याय के आिार पर सलखखए कक हीरा-मोती की अपेक्षा अचिक  
    िमततनष्ठ था।   
(ग) ‘ततब्बत में कानून-व्यवस्था सख़्त नहीां थी’- कानून के सख़्त न होने पर समाज पर कैसा  
    प्रभाव पड़ता है? अपना ववचार सलखखए।  
(घ) ‘सामात्जक सरोकारों में कमी आने का कारण उपभोततावाद की सांस्कृतत है।’ इस कथन  
    पर आप अपना ववचार सलखखए।  
 
 
 
 



6 
 

9. निम्िललखखत कावयांश पर आधाररत बहुववकल्पी प्रश्िों के सवायचधक उपयुक्त ववकल्प को चुिकर  
ललखखए:— 

(1×5=5) 

   तया?— देख न सकती ज़ांजीरों का गहना?  
  हथकडड़याँ तयों? यह त्रिदटि-राज का गहना,  
  कोल्हू का चरतक चँू?- जीवन की तान,  
  चगट् टी पर अँगुसलयों ने सलखे गान!  
  हँू मोट खीांचता लगा पेट पर जूआ,  
  खाली करता हँू त्रिदटि अकड़ का कँूआ।  
  ददन में करुणा तयों जगे, रुलानेवाली,  
  इससलए रात में गज़ब ढा रही आली?  
  इस िाांत समय में,  
  अांिकार को बेि, रो रही तयों हो?  
  कोककल बोलो तो!  
  चुपचाप, मिुर ववद्रोह-बीज  
  इस भाँतत बो रही तयों हो?  
  कोककल बोलो तो!   

 

 (क) कववता में कवव िे गहिा ककसे कहा है?   
            (A) त्रिदटि राज को।                        (B) अपने आभूषणों को।  
         (C) काले पानी की जेल को।            (D) अपने िरीर पर पड़ी ज़ांजीरों को।  
(ख) ‘कोल्हू का चरयक चँू’‍की आवा  कवव के ललए क्या है?  

            (A) परेिान करने वाली बात            (B) आनांद की बात  

         (C) जीवन की तान                   (D) मिुर सांगीत  

(ग) कथि और कारण को पढ़कर उधचत विकल्प का चयि करके लिखिए:—   
       कथि : कवव को लगता है कक कोयल रात के अंधकार में रो रहह है।  
       कारण : वह अपिे मधुर स्वर में कूककर स्िेह-बीज बो रहह है।   
        ववकल्प    

         (A) कथन ग़लत है, क िं तु  ारण सही है। 
            (B) कथन सही है, क िं तु  ारण ग़लत है। 
            (C)  थन और  ारण दोनों सही हैं, तयोंकक  ारण  थन की व्याख्या  रता है।  
            (D)  थन और  ारण दोनों सही हैं, क िं त ु ारण  थन की व्याख्या नहीिं  रता है।  

(घ) कवव मोट खींचकर क्या करता होगा?  
         (A) त्रिदटि सरकार की अकड़ तनकालता होगा।  
         (B) कोल्हू चलाकर तेल तनकालता होगा।  
         (C) त्रिदटि सरकार को र्राता होगा।  
         (D) नफ़रत उर्तपन्न करता होगा।     
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(ङ) ‘कैर्दह और कोककला’‍कववता में कवव िे अपिी बात कहिे के ललए ककसको माध्यम बिाया  
    है?  
         (A)  जेल को।                                       (B) कोयल को। 
         (C) त्रिदटि सरकार को।               (D) स्वतांत्रता सेनातनयों को। 
 

10.  निम्िललखखत प्रश्िों में से ककन्हहं तीि प्रश्िों के उत् तर लगभग 25 से 30 शब्र्दों में ललखखए:—                                                                                                              (2×3=6) 

 (क) अपने ववचारों दवारा ससदि कीत्जए कक कबीर िमत एवां सांप्रदाय की सांकीणतताओां से ऊपर  
    थे। 

 

(ख) ईश्वर प्रात्प्त के सलए बहुत सािक हठयोग जैसी कदठन सािना भी करते हैं, लेककन उससे  
    भी लक्ष्य-प्रात्प्त तयों नहीां होती? 
(ग) ‘वाख’ अध्याय के आिार पर सलखखए कक कवतयत्री ललदयद माझी के समक्ष परेिान तयों  
    हैं?  
(घ) पदठत अध्याय ‘सवयेै’ के आिार पर सलखखए कक ‘मुरलीिर’ ककस ेकहा गया है, और तयों? 
  

11. निम्िललखखत प्रश्िों में से ककन्हहं र्दो प्रश्िों के उत् तर लगभग 50 से 60 शब्र्दों में ललखखए:— (4×2=8) 

 (क) 'इस जल प्रलय में' अध्याय के लेखक न ेबार-बार 'ररलीफ़' िब्द का प्रयोग ककया है। आपके  
    अनुसार सरकार अथवा स्वयांसेवी सांस्थाओां दवारा प्राकृततक आपदा के समय ववतररत ररलीफ़   
    ककतना सहायक होता है, एवां उसके ववतरण में बरती जाने वाली पारदसितता पर अपना  
    ववचार सलखखए।      

 

(ख) 'मेरे सांग की औरतें' अध्याय में लेखखका ने अपने घर-पररवार की औरतों का वणतन ककया  
     है। तया आपको लगता है कक यह वणतन अततियोत्ततपूणत है? अपना ववचार सलखखए।  
(ग) 'नारीवाद' के नाम पर चलने वाले िादी के बाद नाररयों दवारा अपना नाम न बदलने का  
    ररवाज़ से आप ककतना सहमत हैं? अपना ववचार सलखखए।  

 

खंड- घ  (रचिात्मक-लेखि) 
 

12.  निम्िललखखत ववियों में से ककसी एक वविय पर लगभग 120 शब्र्दों में अिुच्छेर्द ललखखए:—                                                                                                           (6×1=6) 

 (क) साांप्रदातयकता : एक असभिाप  
   सांकेत त्रबांद–ु भूसमका, साांप्रदातयकता का अथत, राजनीतत और साांप्रदातयकता, साांप्रदातयकता  
              के दषु्पररणाम, तनष्कषत।   

 

(ख) बदलती दतुनया में पीछे छूटते जीवन-मूल्य  
    सांकेत त्रबांद-ु भूसमका, पररवततनिील सांसार, बदलाव का प्रभाव, खोते नैततक मूल्य,             
               तनष्कषत। 
(ग) स्वामी दयानांद सरस्वती 
    सांकेत-त्रबांद-ु भूसमका, जन्म, माता-वपता, ज्ञान-बोि, समाज-सुिार में भूसमका, आयतसमाज  
              की स्थापना, तनष्कषत। 
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13. आपका नाम सोहम / सोदहनी है। आपके क्षेत्र में चार ददन से त्रबजली नहीां आ रही है, त्जसके 
कारण आप तथा अन्य ववद याचथतगण पढ़ नहीां पा रहे हैं, तथा चोरी की घटना भी बढ़ गयी है। 
समस्या तनवारण हेतु अपने क्षेत्र के ववद युत ववभाग के अचिकारी को 100 िब्दों में पत्र सलखखए।  

अथवा  
आपका नाम सोहम / सोदहनी है। छात्रावास की समस्याओां से परेिान होकर अपने ववद यालय 
के आस-पास ही एक कमरे की व्यवस्था करने हेतु अपने वपता जी को 100 िब्दों में पत्र 
सलखखए।  
 

(5×1=5) 

14.  आपका नाम पुतनत / पववत्रा है। खाद य (खाने की) पदाथों में लगातार समलावट होता देखकर 
अपने राज्य के खाद य-मांत्री को 100 िब्दों में ई-मेल सलखखए।  

अथवा  
"सांगठन में ित्तत होती है" कथन पर आिाररत अपनी कल्पना के आिार पर 100 िब्दों में 
लघुकथा सलखखए।   
 

(5×1=5) 

15.  पुस्तक-ववके्रता की दकुान पर पुस्तक खरीदने आये ववदयाथी तथा दकुानदार के मध्य हुई 
बातचीत को 80 िब्दों में सांवाद के रूप में सलखखए।  

(4×1=4) 

 अथवा 
आप गौरव / गररमा हैं। आप पुस्तक-प्रदितनी लगाने जा रहे हैं। ववद यालय के समस्त 
ववद याचथतगण को इसकी सूचना देते हुए 80 िब्दों में सूचना-आलेख तैयार कीत्जए।  

 

****************************** 
 



D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST-II 

SESSION: 2024-2025 

CLASS: IX          MAXIMUM MARKS: 80 

SUBJECT: MATHEMATICS      TIME:  3 HOURS  

General Instructions: 
Read the following instructions very carefully and strictly follow them: 

(i) This question paper contains 38 questions and 6 printed pages. All questions are compulsory. 

(ii) This question paper is divided into five sections – A, B, C, D, and E. 

(iii) In Section A, Questions no. 1 to 18 are Multiple Choice Questions (MCQs) and questions number 19 and 20 

are Assertion Reason based questions of 1 mark each. 

(iv) In Section B, Questions no. 21 to 25 are Very Short Answer (VSA) type questions, carrying 2 marks each. 

(v) In Section C, Questions no. 26 to 31 are Short Answer (SA) type questions, carrying 3 marks each. 

(vi)  In Section D, Questions no. 32 to 35 are Long Answer (LA) type questions, carrying 5 marks each. 

(vii) In Section E, Questions no. 36 to 38 are case study-based questions carrying 4 marks each. Internal choice is 

provided in 2 marks questions in each case study. 

(viii) There is no overall choice. However, an internal choice has been provided in 2 questions in Section B, 2 

questions in Section C and 2 questions in Section D. 

(ix) Draw neat diagrams wherever required. Take 𝜋 = 
22

7
  wherever required if not stated. 

SECTION – A (MCQ) 

1. Which of the following is an irrational number? 

(a) 5.0734               (b) 1.010010001             (c) 
√289

(343)
1
3

                  (d) √27 

1 

2. The degree of zero polynomial is   

(a) 0                         (b) 1                                (c) Not defined        (d) 10 

1 

3. Which of the following needs a proof? 

(a) Postulate            (b) Axiom                       (c) Theorem            (d) Definition 

1 

4. In ∆PQR, if  4∠𝑃 = 6∠𝑅 = 5∠𝑄,  P: Q: R   is 

(a) 4: 6: 5                 (b) 15: 10: 12                  (c) 4: 5: 6                (d) 15: 12: 10 

1 

5. If  𝑝 =
 1

0.000729
  , then the value of  𝑝− 

1

2  is 

(a) 0.03                    (b) 0.009                          (c) − 0.027             (d) 0.027 

1 

6. If 3𝑥 − 1 is a factor of the polynomial 𝑥2 − 2𝑐𝑥 + 1, then the value of c is 

(a) 
5

3
                          (b) 

3

5
                              (c) 

9

5
                         (d) − 

5

3
 

1 

7. If  (𝑎 + 85°) and  𝑏 are two angles such that they from a supplementary pair, then which of the 

following angles will form a complementary pair? 

(a) 𝑎 + 𝑏 + 95°        (b) 𝑎 + 5° − 𝑏           (c) 𝑎 + 𝑏 − 15°       (d) 𝑎 + 𝑏 − 5° 

1 

8. Decimal representation of 21𝜋  is 

(a) Terminating                                                 (b) Non-terminating 

(c) Non-terminating repeating                          (d) Non-terminating non-repeating 

1 



9. “All right angles are equal to one another” is stated in the form of 

(a) a postulate             (b) an axiom           (c) a definition          (d) a proof 

1 

10. Which of the following is not a criterion for congruence of triangles? 

(a) ASA                       (b) SSA                  (c) AAS                    (d) SAS 

1 

11. The perpendicular distance of the point  (−9, 4)  from the Y axis is 

(a) 4 units                  (b) 5 units              (c) 13 units               (d) 9 units 

1 

12. By using Heron’s Formula, we can find the area of  

  (a) only scalene triangle                                 (b) only equilateral triangle 

  (c) only isosceles triangle                              (d) any types of triangle 

1 

13. If  1 − 𝑥101  is divided by  1 + 𝑥  , then the remainder is 

(a) 0                    (b) 1                          (c) −2                        (d) 2 

1 

14. The sum of the ordinates of the points  (− 5, − 8)   and  (9, 4)  is 

(a) 14                  (b) 4                          (c) − 4                       (d) 12 

1 

15. In  ∆ABC, BC = 13 cm, AC = 10 cm, D is the middle point of AC and ∠𝐴 = ∠𝐶. Then the length 

of BD is  

(a) 13 cm             (b) 12 cm                   (c) 5 cm                     (d)   8 cm 

1 

16. Area of an equilateral triangle is  9√3  sq. m. The side of the triangle is 

(a) 6 cm               (b) 3√3 cm                (c) 6√3 cm                (d)   8 cm 

1 

17. A pyramid is a solid figure, the base of which is 

(a) only a triangle     (b) only a rectangle    (c) only a square      (d) any polygon 

1 

18. Which of the following point is equidistant from the coordinate axes? 

(a) (− 7, − 8)           (b) (− 6, − 6)             (c) (13, 12)              (d) (0, 8) 

1 

19. Assertion (A): If (𝑥 + 7)is a factor of 𝑓(𝑥) = 𝑥2 + 11𝑥 − 2𝑎, then 𝑎 = −14. 

Reason (R): If (𝑥 + 𝑎)is a factor of a polynomial 𝑓(𝑥), then 𝑓(𝑎) = 0. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

1 

20. Assertion (A): The angles of a triangle are in the ratio 2:3: 4. The largest angle of the triangle is 

80°. 

Reason (R): The sum of all the interior angles of a triangle is 180°. 

(a) Both Assertion and Reason are correct and Reason is the correct explanation for Assertion 

(b) Both Assertion and Reason are correct and Reason is not the correct explanation for 

Assertion. 

(c) assertion is true but the reason is false. 

(d) A is false but R is true. 

1 

 



SECTION – B 

21. If  𝑝(𝑥) = 𝑥3 + 𝑥2 − 2𝑥 + 1, then find  𝑝(2) − 𝑝(−1) . 2 

22. If 𝑥 = 3 + 2√2  , then check whether  (𝑥 +
1

𝑥
)  is rational or irrational. 2 

23. If a point T lies between two points P and Q such that 𝑃𝑇 = 𝑇𝑄.  Prove that T𝑄 =
1

2
𝑃𝑄. 

OR 

Solve the equation   𝑥 + 17 = 29  and say which axiom of Euclid will you use here to solve the 

equation? 

2 

24. In the following figure, ∠𝐵 = ∠𝐸 , BD = CE and ∠1 = ∠2 . Show that ∆𝐴𝐵𝐶 ≅ ∆𝐴𝐸𝐷. 

 

2 

25. Area of ∆ABC is 60 sq. m. If 𝐴𝐶 = 15 m and  𝐵𝐷 ⊥ 𝐴𝐶 (D lies on the side AC), then find the 

length of BD. 

OR 

Altitude of an equilateral triangle is  5√3 m.  Find its area. 

2 

SECTION – C 

26. Find six rational numbers between  
7

20
  𝑎𝑛𝑑 

8

15
 . 

OR 

Express  6.023̅̅̅̅  in the form  
𝑝

𝑞
  where  p and q are integers and  𝑞 ≠ 0 . 

3 

27. In the following figure  𝑃𝑄 ∥ 𝑅𝑆. 

 Find the value of y. 
 

3 

28. If  𝑥 − 3  is a factor of the polynomial   𝑥3 − 3𝑥2 + 4𝑎𝑥 − 1, then find the value of   𝑎 . 3 

29. In the following figure, PQ = PR.  

Prove that∆𝑃𝑄𝑇 ≅ ∆𝑃𝑅𝑆. 

3 



30. Find the coordinates of all the vertices of a rectangle placed in 2nd quadrant in the Cartesian plane 

with length 8 units on y axis and breadth 5 units on x axis by drawing a rough figure. 

3 

31. If  𝑀𝑁 ∥ 𝑂𝑃 ∥ 𝑄𝑅 , then find the measure of x. 

 

 

OR 

In the following figure, prove that  ∠𝐹𝐻𝐺 = ∠𝐸 + ∠𝐹 + ∠𝐺   

3 

SECTION – D 

32. Locate √6 on the number line. 5 

33. Factorize:  2𝑥3 − 9𝑥2 + 7𝑥 + 6. 

OR 

If (𝑥 + 1) 𝑎𝑛𝑑 (𝑥 − 2) are the   factors of the polynomial 𝑎𝑥3 − 4𝑥2 + 3𝑏𝑥 + 1, then find the 

value of 𝑎   𝑎𝑛𝑑 𝑏. 

5 

34. The sides of a triangle in the ratio  13: 12: 5  and its perimeter is 300 m. Find the area of the 

triangle by using Heron’s Formula. 

5 

35. Line  𝑙  is the bisector of an angle  ∠𝐴  and B is any point on  𝑙. BP and BQ are perpendiculars 

from B to the arms of  ∠𝐴 .  Prove that   ∆𝐴𝑃𝐵 ≅ ∆𝐴𝑄𝐵  and  BP = BQ. 

 

 

5 



 
OR 

ΔABC and ΔDBC are two isosceles triangles on the same base BC and vertices A and D are on 

the same side of BC (see the given figure). If AD is extended to intersect BC at P, show that 

(a) ΔABD ≅ ΔACD   

(b) ΔABP ≅ ΔACP 

(c) AP bisects ∠A as well as ∠D. 

(d) AP is the perpendicular bisector of BC. 

 

SECTION – E (Case-Based) 

36. Sports is very much important for students’ health and fitness. Keeping this in mind XYZ public 

school made two attractive triangular shaped playgrounds for the students, one is for the primary 

section and another is for secondary section. The lengths of the sides of the primary section 

playground are   70 m, 80 m and 100 m and the lengths of the sides of the secondary section 

playground are 120 m, 150 m and 90 m.  

Based on the above information answer the following questions:  

 

 

 

 

 

 

 

(i) What is the semi perimeter of the primary section playground?  

(ii) What is the area of the secondary section playground? 

(iii) If the cost to trim the grass per square meter is ₹ 5, then find the total cost to trim the 

grass of the secondary playground.                                                

OR 

                 Find the area of the primary section playground. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

2 



37. Every year in Winter season ABC Sports association used to organize a football tournament 

between several teams. In one match at a moment the positions of the football players are like the 

letters on the following graph paper. 

 

 

 

 

 

 

 

 

 

 

 

Based on the above information answer the following questions:  

(i) What is the co-ordinates of the point P?  

(ii) What is the ordinate of the point J? 

(iii) What is the distance between the points B and N? 

OR 

 Find the perpendicular distance of P from x axis and that of F from y axis. 

 

 

 

 

 

 

 

 

 

 

 

1 

1 

2 

38. Two vans are moving on two parallel roads represented as PQ and RS respectively in the 

following figure. The first van reaches at the point A and takes a turn towards its left at angle of 

y°. At the same time, the second van reaches at the point B and takes a turn towards its right at an 

angle of z°. After that they meet together at a point C (without considering the breadth of the 

road). 

 

 

 

 

 

 

 

 

Based on the above information answer the following questions:  

(i) What is the measure of the angle y? 

(ii) What is the measure of the angle z? 

(iii) Find the measure of angle x. 

OR 

Find the measure of reflex ∠𝐴𝐶𝐵. 

 

 

 

 

 

 

 

 

 

 

1 

1 

2 

**************** 
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 खण्डः  – क (अपठित-अवबोधनम)् (10 अङ्कः )  

1. अधोलिलखतम ्अनचेु्छदं पठित्वक प्रदत्तप्रश्नकनकम ्उत्तरकलि लिखत – 

एकदक एकः  नरः  सरोवर-तटे अभ्रमत्। सः  गम्भीर-लिन्तने रतः  आसीत्। सहसक वकनरकिक ं

शब्दः  तस्य ध्यकनभङ्गः  अभवत्। स अपश्यत ्यत् रक्तविकणः  अठतठवकरकि-वकनरकः  नकठतदरेू 

आसन्। सः  धकठवतुम् आरभत। तं धकवनं्त दृष्ट्वक वकनरकः  अठप अनधुकठवतवन्तः । भीतः  सः  

तीव्रगत्यक धकठवतमु् आरभत। “मक धकव, भयं त्यक्त्वक तत्रदव स्थिरः  भव।” इठत कस्यलित ्

वृद्धजनस्य उच्चस्वरं श्रुत्वक सः  तथदव अकरोत्। स्थिरं तं दृष्ट्वक वकनरकः  अठप तत्रदव स्थितवन्तः । 

सकहसं कृत्वक ठनभीकदृष्ट्यक सः  वकनरकन् अपश्यत्। तं ठनभीकं दृष्ट्वक वकनरसमूहः  पिकठयतः । 

अहो आश्चयणम्! कीदृशः  िमत्ककरः ! अनेन अनभुवेन तस्य ज्ञकन-िक्षषुी उन्मीलित।े तेन ज्ञकतम ्

यत् आपठत्तभ्यः  मठुक्तः  दृढसंकल्पने, सकहसेन धदयेि ि भवठत न तकभ्यः  पिकयनने। जकनस्थन्त 

भवन्तः  एषः  नरः  कः  आसीत्? एषः  नरः  आसीत ्स्वकठमठववेककनन्दः । 

(अ) एकपदेन उत्तरत ( केविं प्रश्नद्वयम)् 

   (क) कः  सरोवर-तटे अभ्रमत्?  

   (ख) नर: कः  आसीत्? 

   (ग) केषक ंशब्दः  ध्यकनभङ्गः  अभवत्? 

 

 

 

 

 

 

 

 

 

 

 

1×2=2 

 

 

 

 

सकमकन्यठनदेशकः  -  

1. अस्थिन ्प्रश्नपते्र ित्वकरः  खण्डकः  सस्थन्त 

       खण्ड: ‘क’ अपठित-अवबोधनम्।    (10 अड्ककः ) 

       खण्ड: ‘ख’ रिनकत्मकककयणम्।        (15 अड्ककः ) 

       खण्ड: ‘ग’ अनपु्रयकु्त–व्यककरिम्     (25 अङ्कः ) 

       खण्ड: ‘घ’ पठित-अवबोधनम।्       (30 अङ्कः ) 

2. प्रत्येकं खण्डम् अलधकृत्य उत्तरकलि क्रमेि एव िखेनीयकठन । 

3. प्रश्नसङ्ख्यक प्रश्नपत्रकनुसकरम् अवश्यमेव िेखनीयक । 

4. सवषेकं प्रश्नकनकम् उत्तरकलि संसृ्कतने िखेनीयकठन । 

5. अस्थिन ्प्रश्नपते्र 19 प्रश्नकः  सस्थन्त । 

6. अस्थिन् प्रश्नपते्र 9 पषृ्ठकठन सस्थन्त। 
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 (आ) पिूणवकक्यने उत्तरत ( केविं प्रश्नद्वयम)् 

  (क) वृद्धजनः  ठकम ्अवदत्? 

  (ख) सकहसं कृत्वक सः  ठकम् अपश्यत्? 

  (ग) तं धकवनं्त दृष्ट्वक वकनरकः  ठकम् अकुवणन्? 

 (इ) अस्य अनचेु्छदस्य कृत ेउलितं शीषणकं लिखत। 

 (ई) भकठषकककयणम ्(केविं प्रश्नत्रयम)् 

 (क) ‘सः  वकनरकन् अपश्यत्’- अत्र कतृणपदं ठकं प्रयुक्तम्? 

  (अ) वदृ्ध      (ब) नर        (स) वकनर    (द) स:  

 (ख) ‘समीप’े इत्यस्थिन ्अथे ठकं पदं अनुचे्छदे प्रयुक्तम्? 

   (अ) दरेू        (ब) अठतदरेू       (स) नकठतदरेू    (द) ठनकटे 

 (ग) ‘एकदक एकः  नरः  सरोवर-तटे अभ्रमत’्- अत्र ठक्रयकपदं ठकम् अस्थि? 

   (अ) सरोवरे     (ब) नरः          (स) एकदक      (द) अभ्रमत ्  

 (घ) ‘रक्तविकणः  वकनरकः ’ अत्र ठवशेषिपदं ठकम् अस्थि? 

   (अ) वकनरकः      (ब) रक्तविकणः       (स) वृद्धः        (द) धकठवतवन्तः  

2×2=4 

 

 

 

1 

1×3=3 

 खण्डः  – ख (रिनकत्मकककयणम)्  (15 अङ्कः )  

2. स्वठवद्यकियस्य विणनं कुवणन ्ठमतं्र रककेशं प्रठत अधः  लिलखतं पतं्र मञ्जषूकयकं प्रदत्तपददः  

परूठयत्वक पनुः  लिखत। 

परीक्षकभवनम ्

ठतलथः  …………………… 

ठप्रय (i)……………… 

सस्नेहं नमस्ककरः । 

भवतः  पतं्र प्रकप्तम।् (ii) ………… प्रकसीदत।् यथक भवतक कलथतं तथक अहं पत्रोत्तरे 

स्वठवद्यकियस्य विणनं (iii)……….. । मम (iv) ………… अतीव ठवशकिः  सुन्दरः  ि 

अस्थि। अत्र ठत्रसहसं्र छकत्रकः (v)……………पिस्थन्त। (vi) ………… पिुककनकं पत्र-

पठत्रककिकं ि सुव्यविक अस्थि। (vii)………….. वकिीबकि बदडठमन्टन-ठक्रकेट रज्ज ु

आकषणिकठद खेिकनकम् उत्तमः  प्रबन्धः  अस्थि। पररषदः  परीक्षकपररिकमः  प्रठतवषं (viii) 

………….भवठत। मकतठपत्रोः  (ix)…………. प्रिकमकः ।  

 

भवतः  (x)……………………. 

सौलभकः  

 

मञ्जषूक - 

½×10=5 

पुिककिय,े िरियोः , ठमत्रम्, रककेश, शतप्रठतशतम्, मनोयोगेन, मनः , 

करोठम, क्रीडकक्षेते्र, ठवद्यकियः  
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3. अध: प्रदतं्त लितं्र दृष्ट्वक प्रदत्त-पदकनकं सहकयतयक संसृ्कत ेपञ्चवकक्यकठन लिखत –  

 

 

मञ्जषूक -  

 

 

अथवक 

‘प्रकतः भ्रमिम्’ इठत ठवषयम ्अलधकृत्य प्रदत्त-पदकनकं सहकयतयक संसृ्कतने पञ्चवकक्यदः  एकम ्

अनचेु्छदं लिखत।                           

 

मञ्जषूक-  

 

 

1×5=5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. अधोलिलखतक ंिघकुथकं मञ्जषूकयकं प्रदत्तपददः  परूठयत्वक लिखत। 

पुरक (i)………..त्रयः  एव ठवश्वठवद्यकियकः  आसन्-तक्षलशिक, ठवक्रमलशिक नकिन्दक ि। 

तेषु (ii)………….केविं नकिन्दक-ठवश्वठवद्यकिये (iii)….……. लशक्षक दीयते ि। 

एवमेव तस्थिन्नेव (iv)………… कृठषः , आयुवेदः , पशठुवज्ञकनं, किक-लशल्पकनकञ्च 

(v)………..दीयत ेि। अतः  सप्तवषीयः  सन् (vi)……….. पञ्चठवद्यकः  अधीतवकन्। 

तकस ु शब्ठवद्यक-लशल्पिकनम्–आयुवेदः –हेतठुवद्यक-आध्यकलत्मकी ि ठवद्यकः  आसन्। एतकः  

(vii)……….. पठित्वक छकत्रकः  (viii)……….. ठववेठकनः  अभवन् जीवनदशणनं ि 

जकनस्थन्त ि। तदक भकरतीय-ठवज्ञकन- (ix)………… अठत उतृ्कष्टक मकनवीयमलू्ययुक्तक ि 

आसीत।् तददव अिककं देशः (x) ……….. ‘स्विणखगः ’ कथ्यत ेि। 

 

मञ्जषूक-  

 

 

½×10=5 

 

 

 

 

 

 

 

 

 

 

 

 

ठवद्यकियः , भवनम,् अध्यकठपकक, छकत्रकः , प्रकथणनकसभक, प्रकथणनक,ं 

कुवणस्थन्त , ध्वठनठविकरकयन्त्रम्, एकः  बकिः , सनु्दरम,् प्रकतः ककिे, 

उस्थितक, प्रधकनकिकयकणः |  

प्रकतः ककिः , मन्दः , पवनः , शीतिः , मनोहरकलि दृश्यकठन, सवणत्र, सवे, 

पुष्पकलि, बकिककः , उद्यकनस्य, कृषककः , कृठषक्षेतं्र, क्रीडस्थन्त, गच्छस्थन्त, 

भ्रमस्थन्त, खगकः  

 भकरतम,् भकरते, छकत्रः , ठवश्वठवद्यकियषेु, बौद्धदशणनस्य, ठवद्यकः , 

परम्परक, सत्यकसत्य, ठवश्वठवद्यकिये, लशक्षक ं



Page 4 of 9 
 

अथवक 

मञ्जषूकयकः  सहकयतयक अधोलिलखतं संवकदं परूयत – 

गीठतकक – ऋठतके। अद्य ठवद्यकियं ठकमथं न आगतक? 

ऋठतकक – (i) __________________________। 

गीठतकक – ठकं ज्वरकक्रकन्तक अलस? 

ऋठतकक – (ii) __________________________। 

गीठतकक – ठकं त्वयक ककठप औषलधः  गृहीतक? 

ऋठतकक – (iii) __________________________। 

गीठतकक – ठकम ्श्वः  रक्तपरीक्षिस्य ठववरिं प्रकप्स्यते? 

ऋठतकक – (iv) __________________________। 

गीठतकक – कदक ठवद्यकियं आगठमष्यलस? 

ऋठतकक – (v) ___________________________। 

मञ्जषूक-  

 

 

1x5=5 

 खण्डः  – ग (अनपु्रयकु्त–व्यककरिम)् (25 अङ्कः )  

5. अधोलिलखत-विकणनकम ्उच्चकरििकनकठन ठनदेशकनसुकरं लिखत। (केविं प्रश्नितषु्टयम)् 

 (क) ‘वदठत’ – इठत पदे कः  दन्तौष्ठ्यः  अस्थि? 

 (ख) ‘ऐ’ विणस्य उच्चकरििकनं ठकम् अस्थि? 

 (ग) ‘ि् ’ विणस्य उच्चकरििकनं ठकम् अस्थि? 

 (घ) ‘भकयकण’ इठत पदे कः  कण्ठिकनीयः  विणः  अस्थि? 

 (ङ) ‘म् ’ विणस्य उच्चकरििकनं ठकम् अस्थि? 

½×4=2 

6. अधोलिलखतवकक्यषे ुििूपदकनकं सस्थन्धम ्अथवक ठवचे्छदं कुरुत।(केविं प्रश्नितषु्टयम्)  

(क) ठहतोपदेश: नकमक: ग्रन्थ: प्रलसद्ध: जकत: ।  

(ख) तकवदेव सहसक प्रठवशठत कलश्चद् मेवकडरकजपुत्र:।  

(ग) कीटः +अठप समुनः  सङ्गकदकरोहठत। 

(घ) कुतिकवत ्ठवजयः  ?  

(ङ) ककिः  ठपबठत तत ्+ रसम ्। 

1×4=4 

7. अधोलिलखतवकक्यकनकं ररक्तिकनषे ुसमलुित ककरक-उपपदठवभठक्त-यकु्तपदं ठवकल्पभे्य: 

लित्वक लिखत। (केविं प्रश्नितषु्टयम)्  

1×4=4 

• आम्, मयक औषलधः  गृहीतक, रक्तपरीक्षिकथं अठप दत्तक। 

• अहम् अस्विक आसम् अत: ठवद्यकियं न आगतक। 

• यदक लिठकत्सकः  अनुमठतं दकस्यठत तदक ठवद्यकियम् 

आगठमष्यकठम। 

• न केविं ज्वरकक्रकन्तक, मम उदरे अठप पीडक आसीत्। 

• आम्, श्वः  रक्तपरीक्षिस्य ठववरिं प्रकप्स्यत े। 
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 (क) ………….. ठवनक मनुष्यस्य जीवनं व्यथणम।्                                                       

   (अ) ठवद्यक   (ब) ठवद्यकसु   (स) ठवद्यकः   (द) ठवद्यकं 

 (ख) मकतक ………….. लस्नह्यठत। 

   (अ) पुत्रम्    (ब) पुते्र   (स) पुत्रकय    (द) पु्त्रदः  

 (ग) अिं ……………। 

   (अ) लिन्तकं   (ब) लिन्तयक  (स) लिन्तयकः   (द)लिन्तकयकः  

 (घ) ............. सह आगच्छ। 

   (अ) मम    (ब) मह्यम ्  (स) मयक    (द) अहम ्

 (ङ) छकत्रकः  …………….. बठहः  ठनगणच्छस्थन्त। 

   (अ) ठवद्यकियम्      (ब) ठवद्यकियकत्     (स) ठवद्यियकत्    (द) ठवद्यकिय े

8. ठवकल्पभे्यः  उलित-शब्रूपकलि लित्वक ररक्तिकनकठन परूयत (केविं प्रश्नितषु्टयम)्  

(क) ……………… अद्यदव पकत्रकिकं ियनं करोठम। 

  (अ) सः             (ब) अहम ्      (स) वयम ्     (द) तम ्

 (ख) आरुलिः  ……………….. ठपतक आसीत्। 

   (अ) शे्वतकेत        (ब) शे्वतकेतुनक   (स) शे्वतकेतोः   (द) शे्वतकेतव े

 (ग) ………………… सवे त्वकम् अनगुठमष्यकमः । 

   (अ) आवकम ्       (ब) अिभ्यम ्  (स) वयम ्     (द) अहम ्

 (घ) ………………… पुष्पकलि ठवकसस्थन्त। 

   (अ) ितकयकः        (ब) ितकनकम्    (स) ितकयकम्   (द) ितकम ्

 (ङ) अत्र ………………… आश्रम: अस्थि। 

   (अ) सकधवे         (ब) सकधोः       (स) सकधुः       (द) सकधवः  

1×4=4 

9. ठवकल्पभे्यः  उलित-धकतरुूपकलि लित्वक ररक्तिकनकठन परूयत (केविं प्रश्नितषु्टयम)् 

  (क) प्रतकप: वदठत - यथक भवद्भ्य:   …………। 

      (अ) रोिते   (ब) रोिन्ते       (स) रोि े        (द) रोिेत े  

  (ख) छकत्रकः  पररश्रमं ठवनक ठवद्यकं न ……….। 

     (अ) िप्स्यस े (ब) िप्स्यत े     (स) िप्स्यन्ते     (द) िप्स्य े

  (ग) मुनी वन े…………। 

     (अ) गच्छस्थन्त   (ब) गच्छठत     (स) गच्छकव:    (द) गच्छतः  

  (घ) अयोध्यकयकं दशरथः  नकम नृपः …………। 

     (अ) आसन्    (ब) आसीत ्     (स) अस्थि       (द) िः   

  (ङ) लशष्यः  गुरंु..............। 

     (अ) सेवन्ते    (ब) सेवते        (स) सेवकवहे      (द) सेवस े

1×4=4 

10. अधोलिलखतषे ुरेखकठङ्तपदकनकं प्रकृठत-प्रत्ययौ संयोज्य ठवभज्य वक ठवकल्पभे्यः  लित्वक  वकक्यकठन 

परूयत (केविं प्रश्नत्रयम)्     

1×3=3 
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 (क) एतत ्लिन्तठयत्वक पस्थण्डतसभक ंककररतवकन्। 

   (अ) लिन्त+ल्यप्   (ब) लिन्त+्क्त्वक    (स) लिन्+ठयत्वक (द) लिन्+शत ृ

 (ख) तत् आकर्ण्ण मुठनः  ठवस्थितः  अभवत्। 

  (अ) अ+किण+क्त्वक  (ब) आ+किण+शतृ (स) आ+किण+ल्यप ्(द) आ+किण+क्त 

 (ग) देशं धम ंि रलक्षतमु।् 

   (अ) रक्ष+तुम्       (ब) रक््ष+तमुुन्     (स) रलक्ष+तुमनु्   (द) रक्षी+तुमनु ्

 (घ) गच्छन ्ठपपीलिको यकठत योजनकनकं शतकन्यठप। 

   (अ) गम्+शतृ       (ब) गच्छ+शतृ    (स) गम्+ल्यप्    (द) गम+्क्त्वक 

11. अधोलिलखतवकक्यषे ु ररक्तिकनकठन मञ्जषूकयकं प्रदत्तदः  उलितदः  अव्ययपददः  परूठयत्वक लिखत 

(केविं प्रश्नितषु्टयम)्   

 (क) स: भूपठत: -------------- पठ्यमकनं श्लोकद्वयं श्रुतवकन् । 

 (ख) ठकन्तु बकिस्य …………….. रक्षकः  नकस्थि। 

 (ग) ------------------- देशधमौ प्रठत ठनषु्ठर: सञ्जकतोऽलस?  

 (घ) ………………… रकजक तथक प्रजक। 

 (ङ) ईश्वरः  …………………. अस्थि। 

     

       मञ्जषूक - 

½×4=2 

12. उलित-संख्यकपददः  ररक्तिकनकठन परूयत (केविं प्रश्नितषु्टयम)्   

(क) अिककं ठवद्यकिय े………….. (4) ठवशकिवृक्षकः  सस्थन्त। 

(ख) …………….. (17) बकिककः  तत्र क्रीडस्थन्त। 

(ग) देवेशः  संसृ्कते …………. (96) अङ्म ्प्रकप्तवकन् । 

(घ) गुरुकुिे ……………(27) छकत्रकः  वदेकन् पिस्थन्त। 

(ङ) …………………. (2) मठहि ेफिकठन आनयतः । 

½×4=2 

 खण्डः  – घ (पठित-अवबोधनम)् (30 अङ्कः )  

13. 

 

 

अधोलिलखतं गद्यकशंं पठित्वक प्रदत्त-प्रश्नकनकम ्उत्तरकलि संसृ्कतने लिखत – 

अस्थि उज्जठयन्यकं मकधवः  नकम ठवप्रः । एकदक तस्य भकयकण स्वबकिकपत्यस्य रक्षकथं तम ्

अविकप्य स्नकतुं  गतक। अथ ब्रकह्मिः  रकज्ञक श्रकद्धकथ ं ठनमलन्त्रतः । ब्रकह्मिः  सहजदकररद्र्यकत ्

अलिन्तयत ्- यठद सत्वरं न गच्छकठम तदक अन्यः  कलश्चत् श्रकद्धकथं वतृः  भवेत ्। 

(अ) एकपदेन उत्तरत (केविं प्रश्नद्वयम)् 

(i) ठवप्रस्य ठकं नकम आसीत्? 

(ii) ब्रकह्मिः  केन ठनमलन्त्रतः  अभवत्? 

(iii) ब्रकह्मि: कुत्र वसठत ि?  

(आ) पिूणवकक्यने उत्तरत (केविं प्रश्नद्वयम)् 

 

 

 

 

½×2=1 

 

 

 

1×2=2 

यथक, एकदक, सवणत्र, अत्र, कथम्   
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(i) ब्रकह्मिः  सहजदकररद्र्यकत ्ठकम ्अलिन्तयत्? 

(ii) ब्रकह्मिस्य भकयकण ठकमथं गतक? 

(iii) यठद ब्रकह्मि: सत्वरं न गच्छठत तदक ठकं भवेत् ?  

(इ) भकठषकककयणम ्(केविं प्रश्नद्वयम)् 

(i) ‘लिरम्’ इत्यस्य पदस्य कः  ठवपयणयः  अत्र लिलखतः ? 

(ii) ‘अस्थि उज्जठयन्यक ंमकधवः  नकम ठवप्रः ’। अस्थिन्  वकक्ये ठक्रयकपदं ठकम् ? 

(iii) ‘ब्रकह्मिः  सहजदकररद्र्यकत् अलिन्तयत’् अस्थिन्  वकक्ये कतृणपदं ठकम् ?  

 

 

 

1×2=2 

14. अधोलिलखतं पद्यकशंं पठित्वक प्रदत्त-प्रश्नकनकम ्उत्तरकलि संसृ्कतने लिखत – 

             कीटोऽठप समुनः  सङ्गकदकरोहठत सतक ंलशरः । 

             अश्मकठप यकठत देवतं्व महलभः  सपु्रठतठष्ठतः ।। 

 (अ) एकपदेन उत्तरत (केविं प्रश्नद्वयम)् 

   (क) कः  सतकं लशरः  आरोहठत? 

   (ख) महलभः  सुप्रठतठष्ठतः  देवतं्व कः  यकठत? 

   (ग) अश्मक केन प्रठतठष्ठतः  देवतं्व यकठत? 

 (आ) पिूणवकक्यने उत्तरत ( केविं प्रश्नद्वयम)् 

    (क) कीटः  कथं सतकं लशरः  आरोहठत? 

    (ख) अश्मक कथं देवतं्व यकठत? 

    (ग) कीदृशः  अश्मक देवतं्व यकठत? 

  (इ) भकठषकककयणम ्( केविं प्रश्नद्वयम)् 

    (क) श्लोके ‘पुष्पम’् इत्यस्य पदस्य पयकणयः  कः  प्रयुक्तः ? 

    (ख) ‘यकठत’ इठत ठक्रयकपदस्य कतृणपदं श्लोके ठकं प्रयुक्तम्? 

    (ग) ‘अवरोहठत’ इठत पदस्य ठवपयणयपदं श्लोके ठकं प्रयुक्तम्? 

 

 

 

½×2=1 

 

 

 

1×2=2 

 

 

 

1×2=2 

15. अधोलिलखतं नकट्कंशं पठित्वक प्रदत्त-प्रश्नकनकम ्उत्तरकलि संसृ्कतने लिखत – 

प्रतकपः  - लधङ् मकम् अधन्यम्, योऽहं मकतृभूठमं रलक्षतुम् असमथणः । अिं मम एतेन   

          जीठवतेन। (दीघं ठनः श्वलसठत) 

(यकवत ्सहिरकः  तस्य आकृठतं दृष्ट्वक व्यककुिकः  भवस्थन्त, तकवदेव सहसक प्रठवशठत कलश्चद् 

मेवकडरकजपुत्रः ) 

रकजपतु्र: - (रकजोलितं प्रिम्य) ठवजयतकं महकरकजः , ठवजयतकम्। 

प्रतकपः  - (समकश्वस्य) अठय भ्रकतः ! कथं जयघोषं कृत्वकं मकं िज्जयसे? 

रकजपतु्र:- देव! कथं भवकन ्वदठत एवम्? ठकं न खिु कृतं भवतक रकज्यत्रकिकय? स्वदेशं    

          स्वकधीनं कतु ंभवतक ठकं सोढम्? ठवजषे्यत ेननु भवकन्! 

प्रतकपः  - कुतिकवद् ठवजयः ! स्वदेशमेव त्यकंु्त तत्परोऽहम्। 

भटः  - (अञ्जलिं बद्ध्वक) महकरकज! नदवं तकवत् । स्वकठमभकग्यकनकम् अनुगन्तकरः  वयम।् वयं    

        सवे त्वकम् अनुगठमष्यकम:। 

 

 

 

 

 

 

 

 

 

 

 

 



Page 8 of 9 
 

प्रतकपः  - एवं न वक्तव्यम्। कृतज्ञोऽस्थि भवतकम् अहम।् वीरदः  धीरदः  बहु उपकृतं    

          देशस्य। स्वदेश ेएव ठतष्ठलभः  भवलभः  देशस्य स्वतन्त्रतकयद प्रयत्नः  समकधेयः । 

सव ेभटकः  - देशरक्षकयद बद्धपररकरकः  वयं तु भवन्तमेव अनसुररष्यकमः । 

प्रतकपः  - यथक रोित ेभवद्भ्यः । प्रदेशोऽयम ्अिकलभः  त्यकज्यः  एव।  

(अ) एकपदेन उत्तरत ( केविं प्रश्नद्वयम)् 

    (क) वीरदः  धीरदः  कस्य उपकृतम्? 

    (ख) स्वदेेशः  त्यकंु्त तत्परः  कः  आसीत्? 

    (ग) के प्रतकपस्य आकृठतं दृष्ट्वक व्यककुिकः  भवस्थन्त? 

 (आ) पिूणवकक्यने उत्तरत ( केविं प्रश्नद्वयम)् 

    (क) देशरक्षकयद के बद्धपररकरकः  सस्थन्त? 

    (ख) प्रतकपः  ठकं श्रतु्वक िज्जकम् अनभुवठत? 

    (ग) स्वकठमभकग्यनकम ्अनुगन्तकरः  के? 

 (इ) भकठषकककयणम ्( केविं प्रश्नद्वयम)् 

   (क) ‘अनुगठमष्यकमः ’ इठत ठक्रयकपदस्य कतृणपदं नकट्कंशे ठकं प्रयुक्तम्? 

   (ख) ‘अविोक्य’ पदस्य कः  पयकणयः  नकट्कंश ेप्रयकु्तः ? 

   (ग) ‘कृतज्ञोऽस्थि भवतकम् अहम’्- अत्र ठक्रयकपदं ठकं प्रयुक्तम्? 

 

 

 

 

½×2=1 

 

 

 

1×2=2 

 

 

 

1×2=2 

16. ििूपदमकधतृ्य प्रश्न-ठनमकणिं कृत्वक पिू ंवककं्य लिखत। (केविं प्रश्नपञ्चकम)्  

 (क) ठवष्णुशमकण रकजपतु्रकन ्लशक्षयठत। 

 (ख) परतन्त्र ेदेश ेजीवनं नरककयत।े 

 (ग) वीरगत्यक मरिमेव कल्यकिप्रदं भवठत। 

 (घ) ठवष्णुशमकण नीठतशकस्त्रिे पुनजणन्म ककरयठत। 

 (ङ) गौरवं दकनकत ्प्रकप्यत।े 

 (ि) मूढद ः  पकषकिखणे्डष ुरत्नसंज्ञक ठवधीयते। 

1×5=5 

17. मञ्जषूकत: समलुितपदकठन लित्वक अधोलिलखत-श्लोकस्य अन्वयं परूठयत्वक पनुः  लिखत –  

यौवनं धनसम्पठत्तः  प्रभतु्वमठववठेकतक। 

एकद कमप्यनथकणय ठकम ुयत्र ितषु्टयम।्। 

अन्वयः  – यौवनं (i) ……………. सम्पठत्तः  (ii) …………… अठववेकतक, एकम ्

एकम ् (iii) ……………… अनथकणय(अिम्) यत्र (iv) …………………. (तत्र) 

ठकमु? 

                      

 

 

अथवक 

वरमकेो गिुी पतु्रो न ि मखूणशतकन्यठप  

½×4=2 

प्रभुत्वम्, धन, ितुष्टयम्, अठप  
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एकश्चन्द्रिमो हस्थन्त न ि तकरकगिदरठप।। 

भकवकथणः  – अस्थिन् संसकरे मकतृठपतृभ्यकम ्एकः  गुिवकन् (i)………………… एव तथदव 

श्रेष्ठः  वतणते शतं मूखकणः  न, यथक रकत्रौ एकः  (ii)………………… एव तमः  दरूी करोठत 

परम् अनकेे (iii)………………... अठप ठमलित्वक अन्धककरं दरूीकतु ं 

(iv)……………… न भवस्थन्त। 

        

       मञ्जषूक -                

18. अधोलिलखतकनक ंरेखकठङ्तपदकनकं प्रसङ्गकनसुकरं शदु्धम् अथ ंलित्वक लिखत (केविं 

प्रश्नितषु्टयम)्  

(क) प्रतकपः  अरर्ण् ेलशिकयकम ्उपठवष्टः  अस्थि। 

   (अ) वन े    (ब) लसंहकसने     (स) पकषकिे       (द) रकजभवन े

 (ख) तत् आकर्ण्ण मुठनः  ठवस्थितः  अभवत्। 

   (अ) दृष्ट्वक   (ब) श्रुत्वक       (स) कृत्वक        (द) गत्वक 

 (ग) सः  भपूठतः  एकदक पठ्यमकनं श्लोकद्वयम्  अशृिोत्। 

   (अ) नृपः      (ब) सज्जनः     (स) सलिवः        (द) कमणिकरी  

 (घ) पररवठतणठन संसकरे मतृः  को वक न जकयते। 

   (अ) सकगरे    (ब) आककशे     (स) धरकयकम ्     (द) जगठत 

 (ङ) अगच्छन ्वदनतयेः  पदमेकं न गच्छठत। 

   (अ) गरुडः     (ब) मयूरः       (स) कककः         (द) शुकः   

1×4=4 

19. मञ्जषूकतः  समलुितपदकठन लित्वक अधोलिलखत-कथकसतंू्र योजठयत्वक पिूणकथकं लिखत –  

भकगीरथीतटे (i)……………नकमके नगरे नपृस्य सवणगुियुक्तः  (ii)………….नकमकः  

रकजक आसीत।् तस्य नृपस्य ित्वकरः  (iii)…………आसन।् एकदक सः  नृपः  कुत्रलिद् 

पठ्यमकनं श्लोकं श्रुतवकन ्यत् अनेकेषकं संशयकनकम् उचे्छदनकतकण (iv)…….……दशणकं 

शकस्त्रज्ञकनं सवेषक ं(v)…………..अस्थि। परं तत ्यस्थिन् नकस्थि सः  तु अन्धः  एवकस्थि। 

अतः  (vi)…………स्वपतु्रकिकम् आिकरहीनतयक (vii)…………..ठनरकशः  ि अभवत।् 

मम पुत्रकः  कथं (viii)………….भवन्तु? इठत रकजक अलिन्तयत्। 

 

मञ्जषूक -                         

½×8=4 

 

************** 

समथकणः , पुत्रः , तकरककः , िन्द्रः   

पुत्रकः , पकटलिपुत्र, गुिवन्तः , नेत्रम,् रकजक, 

सुदशणनः , परोक्षकथणस्य, उठद्वग्नमनः   
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST II 

SESSION 2024-2025 

CLASS: IX                                                                             MAXIMUM MARKS: 80 

SUBJECT: SCIENCE                                                        TIME: 3 Hours 

__________________________________________________________________________ 

General Instruction: 

Read the following instructions very carefully and strictly follow them: 

(i) This questions paper comprises 39 questions. All questions are compulsory. 

(ii) This questions paper is divided into five sections A, B, C, D and E. 

(iii) Section A-Question Nos.1 to 20 are multiple choice questions. Each question carries 1 mark. 

(iv) Section B- Questions Nos.21 to 26 are very short answer type questions. Each question carries 2 marks. 

Answer to these questions should be in the range of 30 to 50 words. 

(v) Section C- Questions Nos. 27 to 33 are short answer type questions. Each question carries 3 marks. 

Answer to these questions should be in the range of 50 to 80 words. 

(vi) Section D – Questions Nos.34 to 36 are long answer type questions. Each question carries 5 marks. 

Answer to these questions should be in the range of 80 to 120 words. 

(vii) Section E- Questions Nos.37 to 39 are of 3 source-based/case – based units of assessment carrying 4 

marks each with sub parts. 

(viii) There is no overall choice. However, an internal choice has been provided in some sections. Only one 

of the alternatives has to be attempted in such questions. 

SECTION - A 
 Select and write the most appropriate option out of the four options given for each of 

the questions 1-20. There is no negative mark for the incorrect response. 

 

Q1. Which of the following Evaporation (y axis) Vs Temperature (x axis) plot is correct?  

 

 

  

 

 

 

 

 

 (a) A                (b) C                    (c) B                       (d) D 

1 

Q2. Which one is the bulk phenomenon? 

(a) Sublimation             (b) Boiling                     (c) Evaporation                 (d) Deposition 

1 

Q3.  

 

 

 

 

 

 

 

(Table-1) 

 Table-1 contains densities of different substances. Choose the correct option. 

 (a) Water will float on Ice                           (b) Ethanol will float on Methanol 

 (c) Ice will float on Water                           (d) Water will float on Methanol 

SUBSTANCE DENSITY (g/cm3) 

Air 0.0013 

Wood 0.85 

Water 1.00 

Ice 0.93 

Aluminium 2.70 

Ethanol 0.94 

Methanol 0.79 

1 
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Q4.  The amount of heat energy that is required to change 1kg of a solid into liquid at 

atmospheric pressure at its melting point is known as 

(a) Osmosis                                                   (b) Latent heat of fusion 

(c) Latent heat of vaporization                     (d) Boiling 

1 

Q5. Which of the following are homogeneous in nature? 

 i. Ice in Soda            ii. Blood               iii. Rain water             iv. Steel 

(a) (i) & (iii)             (b) (ii), (iii) & (iv)         (c) (ii) & (iv)               (d) (iii) & (iv) 

1 

Q6.  Which of the following represent suspension – 

 
(a) A           (b) B             (c) C         (d) A & C both 

1 

Q7. Two substances, A and B were made to react to form a third substance, A2B according to the 

following reaction 2A+B→A2B which of the following statements concerning this reaction 

are incorrect?  

(i) The product A2B shows the properties of substances A and B  

(ii) The product will always have a fixed composition 

(iii) The product so formed can not be classified as a compound  

(iv) The product so formed is an element. 

(a) (i), (ii) and (iii)                               (b) (ii), (iii) and (iv) 

(c) (i), (iii) and (iv)                              (d) (ii) and (iv) only) 

1 

Q8. Which of the organelle does not contain DNA? 

(a) Mitochondria          (b) Nucleus                 (c) Plastid                  (d) Ribosome 

1 

Q9. Which one of the following tissue is responsible for grit of fruits? 

(a) Collenchyma          (b) Sclerenchyma        (c) Parenchyma         (d) Chlorenchyma 

1 

Q10. Which cell organelle plays a crucial role in detoxifying many poisons and drugs in cell: 

(a) Golgi apparatus                              (b) Lysosomes 

(c)Vacuole                                           (d) Smooth endoplasmic reticulum 

1 

Q11. Connective tissues are the tissues that help to bind or connect other tissues in the body. 

Identify the connective tissues among the following. 

i) Ligament   ii) Epithelium     iii) Tendon         iv) Blood  

(a) Both (i) and (iii)                              (b) (i), (ii) and (iii)  

(c) (i), (iii) and (iv)                               (d) All the above  

1 

Q12. A stone is thrown vertically upward with an initial velocity 80 m/s. After reaching the 

maximum height it falls and reaches the ground. What is the net displacement and the total 

distance covered by the stone? (Take g =10 m/s2) 

(a) Net displacement = 320 m    Distance = 0 

(b) Net displacement = 0     Distance = 320 m 

(c) Net displacement = 640 m    Distance = 320 m 

(d) Net displacement =0             Distance = 640 m 

1 

Q13. A person is standing on a stationary boat in still water. Now if the person jumps out of the 

boat in the forward direction then, the boat will - 

(a) move in the forward direction                   (b) move in the backward direction 

(c) move in any direction                                (d) remain stationary 

1 
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Q14. The movement of various visceral or internal organs is controlled by  

(a) Smooth muscle fibres                               (b) Striated muscle fibres 

(c) Cardiac muscle fibres                               (d) none of these 

1 

Q15. Which of the following maintain turgidity of plant cell? 

(a)Nucleus                                                      (b)Golgi apparatus 

(c)Vacuole                                                      (d)Rough Endoplasmic Reticulum 

1 

Q16. Dense connective tissue is - 

(a) Adipose tissue         (b) Tendon                (c) Ligament                   (d) Both (b) and (c)  

1 

 For Q.Nos. 17 to 20, two statements are given – One labelled as Assertion (A) and the other 

labelled as Reason(R). Select the correct answer to these questions from the codes (a), (b), 

(c) and (d) as given below: 

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

the Assertion (A). 

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of the Assertion (A). 

(c) Assertion (A) is true, but Reason (R) is false. 

(d) Assertion (A) is false, but Reason (R) is true. 

 

Q17. Assertion(A): Colloidal solutions are stable and the colloidal particles do not settle down. 

Reason(R): Brownian movement counters the force of gravity acting on colloidal particles. 

1 

Q18. Assertion(A):  Axon picks up sensations and sends them to the cell body. 

Reason(R): Cell body sends message for corrective action through axon.  

1 

Q19. Assertion(A): Mitochondria is known as the powerhouse of the cell. 

Reason(R): Mitochondria produce ATP by oxidation of food 

1 

Q20. Assertion(A): A quick collision between a truck and a car is more violent than a slow 

collision even when the initial and the final velocities are identical. 

Reason(R): The rate of change of momentum determines the force. 

1 

 SECTION - B  

Q21. (a) When 25 gm of salt is dissolved in 100 ml of water, the volume does not increase. Which 

characteristics of matter is illustrated by this observation? 

(b) You have added few drops of honey and ink in 100 ml of cold water taken in two 

separate beakers. In which of the beaker diffusion will be faster and why? 

2 

Q22. (a) Identify A and B. 

(b) What do the structures perform? 

 

     

 

 

 

2 

Q23. Endocytosis is found in animals only. Justify with one example. 

                                                     OR 

Cells of onion peel and RBC are separately kept in hypotonic solution. Explain the following 

observations with reasons.  

 (a) Both the cells swell.  

 (b) RBC bursts easily while cells of onion peel resist the bursting to some extent. 

2 

Q24. (a)State Newton’s second law of motion. 

(b) A cricket ball of mass 80 g moving with a velocity of 0.5 m/s is stopped by a player in 2s. 

What is the force applied by the player to stop the ball? 

2 
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Q25. The speed – time graph of a car is given here. Using the data in the graph, calculate the total 

distance covered by the car in first 40 seconds. 

 

 

 

 

 

 

 

  

                            

          

OR 

A bus starts from rest and moves with a uniform acceleration of  

1 m/s2 for 5 minutes. Calculate- 

(a) the speed acquired  

(b) distance travelled by the bus. 

2 

Q26. (a) If the 5 kg and 50 kg stones are dropped from the top of a tower simultaneously, they will 

reach the ground at the same time. Why? 

(b) Mention one point of difference between acceleration due to gravity (g) and Universal 

gravitational constant (G) 

2 

 SECTION - C  

Q27. A student heated a solid substance “X” in a test 

tube which forms a gas and water appears as 

droplets on the upper part of the test tube. 

(a) Is it a chemical or physical change?  

(b) Is the compound “X” homogenous or 

heterogeneous? 

(c) Write any one difference between mixture & 

compound. 

3 

Q28. Answer the following questions: 

(a) In a Gel, what are the dispersed phase and the dispersion medium? 

(b) Seawater can be classified as a homogeneous and heterogeneous mixture. Comment. 

OR 

(a) Smoke and fog both are aerosols. In what way are they different? 

(b) Describe any two properties of colloid. 

3 

Q29. (a) Identify the figure. 

(b)State whether the muscle is voluntary or 

involuntary? Justify. 

(c)  Write the main function of the tissue. 

 

3 

Q30. (a)Define the term cell division. 

(b) Mention any two differences between mitosis and meiosis. 

3 

Q31. An athlete runs on a circular track of radius 70 m from the starting point A with a constant 

speed. It takes 50 second for him to reach point B which is at the other end of the diameter 

drawn from A. Calculate the: 

(a) distance covered         (b) displacement       (c)  speed of the athlete.    

 

3 
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Q32. A car starts from rest and undergoes non-uniform motion. It comes to stop after 10 hours. 

The following graph shows change in velocity of this car with time. 

 

 

 

 

 

 

 

 

 

(a) Which portions of the graph show positive acceleration of the car? 

(b) Calculate the magnitude of displacement of the car in 6 hours. 

(c) Mention the time intervals, during which velocity of the car remains constant. 

3 

Q33. Give reason for the following statements: 

(a) A fireman struggles to hold a hose-pipe. 

(b) During athletics meet, athletes doing long jump or high jump land on a heap of sand. 

(c) The passengers fall forward when a fast moving bus stops suddenly.  

3 

 SECTION - D  

Q34. (a) In a hot summer day, Priyanshi and Ali are wearing cotton and nylon clothes 

respectively. Who do you think would be more comfortable and why? 

(b) Name A, B, C, D, E and F in the following diagram showing change in its state: 

 
(c) What is the physical state of water at-? 

(i) 00C and (ii) 1000C 

                                                             OR 

The temperature–time graph given alongside shows the heating curve for pure wax. 

 
 

From the graph answer the following: 

(a) What is the physical state of the substance at the points A, B, C and D? 

(b) What is the melting point of the substance? 

(c) What is the boiling point of the substance? 

(d) Which portions of the graph indicates that change of state is taking place? 

5 
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Q35. In brief, state what happens when 

(a) Dry apricots are left for some time in pure water and later transferred to concentrate sugar 

solution. 

(b) A red blood cell is kept in concentrated salt solution. 

(c) Rheo leaves are boiled in water first and then drop of sugar syrup is put on it. 

(d) The plasma membrane of a cell breaks down. 

(e) Golgi apparatus is removed from the cell. 

OR 

Draw a plant cell and label the part which: 

(a) is the site for many biochemical reactions necessary to sustain life. 

(b) provides resistance to microbes and withstand hypotonic external medium without 

bursting. 

(c) is a fluid, contained inside the nucleus.   

5 

Q36. (a)The velocity-time graph of a ball moving on the surface of floor is shown in the figure. 

Calculate the force acting on the ball, if mass of the ball is 400 g. 

   

 

 

 

 

 

 

 

 

 

(b)There are three solids made up of aluminium, steel and wood, of the same shape and same 

volume. Which of them would have highest inertia? Give reason in support of your answer. 

OR 

The velocity-time graph of an object of mass m =10 g is shown in figure. Observe the graph 

carefully and answer the following questions. 

 
 

(a) Calculate the force on the object in time interval 0 to 3 s. 

(b) Calculate the force on the object in the time interval 6 to 10 s. 

(c) Mention the time interval in which no force acts on the object? Justify your answer. 

 

 

 

 

 

5 
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 SECTION - E  

Q37. Read the passage given below and answer the following questions. 

Riya, a class 9 student, is conducting an experiment in her science lab. She prepares a 5% 

glucose solution by dissolving 5 grams of glucose in water to make 100 mL of solution. 

During her experiment, she observes various properties and behaviors of the solution. 

(a) Calculate the concentration of the glucose solution in g/L. 

(b) If Riya wants to prepare 200 mL of the same 5% glucose solution, how much glucose 

should she use? 

(c) A solution of glucose in water contains 16 grams of it in 120 grams of solution. Find out 

the mass by mass percentage of the solution. 

OR 

(c) What will be the mass by mass percentage of that same solution prepared by Riya? 

(Given Density of glucose solution = 0.25g/mL) 

4 

Q38. Read the passage given below and answer the following questions. 

 

The outermost layer of the cells is called epidermis. The epidermis is usually made of a 

single layer of cells. In some plants living in very dry habitat, epidermis may be thicker since 

protection against water loss is critical. The entire surface of a plant has an outer covering of 

epidermis. It protects all the parts of the plants. Epidermal cells on the aerial parts of the 

plants often secretes a waxy, water-resistant layer on their outer layer, that aids in protection 

against loss of water, mechanical injury and invasion by parasitic fungi. 

Since, it has a protective role to play, cells of epidermal tissue form a continuous layer 

without intercellular spaces. Most epidermal cells are relatively flat. Often their outer and 

side walls are thicker than the inner walls. 

(a)  Plants of arid zone have thicker epidermis. Give reasons. 

(b) What is the significance of bark in perennial plants? 

(c)  Mention any two functions of epidermis. 

                                      OR 

(c) Mention any two salient features of epidermis. 

4 

Q39. Rajesh buys 30 grams of gold at the poles. He takes the gold to equator and is surprised to 

see that its weight is reduced. He thinks that he has been cheated. He goes back to the seller 

and claims the exchange amount. The shopkeeper explains how weight differs due to the 

value of ‘g’ (acceleration due to gravity). On being convinced, Rajesh goes back.  

(a) Write one point of difference between mass and weight. 

(b) What would be the mass of this 30-gram gold at the equator?  

(c) Why weight of gold decreases when taken to equator? 

OR 

(c) Determine the ratio of weight of this gold on earth and on moon? 

4 

 

****************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-II 

SESSION 2024-25 

CLASS: IX          MAXIMUM MARKS: 80 

SUBJECT: Social Science (087)     TIME: 3 Hrs. 

General Instructions:  

1. The question paper comprises Six Sections – A, B, C, D, E and F. There are 37 questions in 

the Question paper. All questions are compulsory.  

2. Section A – From questions 1 to 20 are MCQs of 1 mark each.  

3. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks 

each. Answer to each question should not exceed 40 words.  

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each. 

Answer to each question should not exceed 60 words  

5. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks each. 

Answer to each question should not exceed 120 words.  

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions 

and are of 4 marks each. Answer to each question should not exceed 100 words.  

7. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37a from History 

(2 marks) and 37b from Geography (3 marks). Attach the map along with the answer sheet. 

8. There is no overall choice in the question paper. However, an internal choice has been 

provided in few questions. Only one of the choices in such questions have to be attempted.  

SECTION A 

MCQs (1X 20=20) 

1. Identify the statement which describes a similarity between the French Revolution and the 

Bolshevik Revolution in Russia. 

 

A. The leaders in power before the revolutions favoured changing the political system in 

their country.  

B. Both revolutions were the result of government denial of basic human rights and stressful 

economic conditions.  

C. Most of the revolutionary support was provided by radicals from other countries.  

D. The new democracies created by the revolutions gave people greater representation in 

their governments. 

1 

2. One major effect of Napoleon's rule of France was that it led to – 

a. an increase in the power of the Roman Catholic Church  

b. massive emigration to the Americas  

c. trade agreements with Great Britain  

d. a restoration of political stability 

Options:- 

A. Only a & b are True.  B. Only b & c are True. 

C. Only c is True.   D. Only d is True. 

1 

3. In the following questions, a statement of Assertion (A) is followed by a statement of 

Reason (R). Mark the correct choice: 

Assertion (A): While the National Assembly was busy at Versailles drafting a Constitution, 

the rest of France seethed with turmoil. 

Reasons (R): A large number of peasants fled from their homes, many of them migrating to 

neighbouring countries. 

 A. Both A and R are true, and R is the correct explanation of A. 

B.  Both A and R are true, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true.  

1 



2 
 

4. Match the following. 

 

 

 

 

 

 

 

A. a-1, b-2, c-3, d-4    B. a-4, b-2, c-3, d-1 

C. a-3, b-1, c-4, d-2    D. a-1, b-3, c-2, d-4 

List-I List-II 

a. Karl Marx 1. Leader of Bolshevik Party 

b. Lenin 2. Tsar of Russia 

c. Stalin 3. Father of Communism 

d. Nicholas II 4. Collectivisation programme 

1 

5. Find out the correct fundamental principle in which Democracy is based on. 

A. President’s Rule    B. Political equality. 

C. Socialist Government.   D. Republic State 

1 

6. Specify the appropriate reason for the issue of a ‘Legal Framework Order’ that amended the 

Constitution of Pakistan. 

A. President can dismiss the national and provincial assemblies. 

B. The legislature could frame better law and order for the progress of the  

     society. 

C. For the Communist Party to form the Government. 

D. To attain independence from the military rule of Pakistan. 

1 

7. Most countries in the contemporary world have chosen to begin their constitutions with a 

preamble, inspired from- 

A. South Africa    B. American Model 

C. French Model     D. Britain 

1 

8 Choose the best signified option from the following about this sign board. 

 

 
A. Conflict between the Coloured people and the Black people of USA 

B. Conflict between the Coloured people and the Black people of South Africa 

C. Conflict between the White people and the Black people of South Africa. 

D. Conflict between the Coloured people and the Black people of USA 

1 

9. Identify the ‘Election Day’ with one of the following descriptions. 

A. Final stage of elections when the voters cast their votes. 

B. The Election Day is the day when political parties nominate their candidates. 

C. The Day when the voters cast their votes. 

D. Final step of an election when the results of elections have been declared. 

1 

10. Find out the correct option about the features of Family Politics. 

 

i. Giving tickets to the candidates belonging from a particular family. 

ii. Indian National Congress is very popular examples of this. 

iii. Family Politics denotes dictatorship. 

 

A. (i) and (iii) is correct 

B. (ii) and (iii) is correct 

C. only (iii) is correct 

D. (i) and (ii) is correct 

1 
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11 Observe the picture and identify the documents. 

 

 
A. Nomination form     B. Declaration of candidates 

C. Details of election to the Lok Sabha  D. Electoral Roll 

1 

12. In the following questions, a statement of Assertion (A) is followed by a statement of 

Reason (R). Mark the correct choice: 

Assertion (A): Several challenges exist in India to truly free and fair election. 

Reasons (R):  The influence of money and muscle power, dynasty politics and 

criminalisation of politics has increased. 

A. Both (A) and (R) are true, and (R) is the correct explanation of (A). 

B.  Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

C. (A) is true, but (R) is false. 

D. (A) is false, but (R) is true. 

1 

13. Identify which one is incorrect about India. 

A. India is a vast country lying entirely in the Northern Hemisphere. 

B. From Gujarat to Arunachal Pradesh, there is a time lag of 3 hours. 

C. Time near Standard Meridian of India, 82°30'E, passing through Mirzapur, Uttar Pradesh, 

is considered the country's standard time. 

D. Latitudinal extent ranges from 8°4'N to 37°6'N and longitudes ranges from 68°7'E to 

97°25'E. 

1 

14. In the questions given below, there are two statements marked as Assertion (A) and Reason 

(R). Read the statements and choose the correct option. 

Assertion (A): The Western Ghats and the Eastern Ghats mark the Western and the Eastern 

edges of the Deccan plateau respectively.  

Reason (R): The Western Ghats are higher than the Eastern Ghats.   

Codes- 

A. Both A and R are correct and R is the correct explanation of A. 

B. Both A and R are correct, but R is not the correct explanation of A. 

C. A is true, but R is false. 

D. A is false, but R is true. 

1 

15. Match the Column A with the Column B 

Column A Column B 

i) The major salt water lake in India. A. Dakshin Ganga 

ii) The largest river basin in India B. Jammu & Kashmir 

iii) The biggest waterfall in India C. Sambhar Lake 

iv) Wular Lake D. Ganga 

v) The other name of Godavari River. E. Jog Fall 

Options: 

A. i)-B, ii)-E, iii)-A, iv)-B, v)-D   B. i)-E, ii)-C, iii)-A, iv)-D, v)-B 

C. i)-D, ii)-C, iii)-A, iv)-B, v)-E   D. i)-C, ii)-D, iii)-E, iv)-B, v)-A 

1 

16. Scope of farming activity is limited in Palampur due to 

A. Fixed amount of land                                         B. Lack of Irrigation 

C. Lack of Labour                                                  D. None of these 

1 
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17. Identify the sector which provides the largest employment in Palampur. 

A. Agriculture  B. Manufacturing  C. Services  D. Education 

1 

18. Choose the correct answer from the given options: 

Identify among these family members who can be considered as an unemployed person.  

A. Rupa's 80-year-old grandfather     

B. Rupa who has chosen to be a home maker  

C. Rupa's son who is studying in primary school  

D. Rupa's husband who is an MBA graduate but not willing to work at the existing wage. 

1 

19. Consider the statements and choose the correct answer from the options given below. 

Statement I: Economic activities performed for pay or profit is called market activities.  

Statement II: Econimic activities performed for self consumption is called non market 

activities. 

A. Statement I is true Statement II is false   

B. Statement II is true Statement I is false 

C. Both Statement I and Statement II are true 

D. Both Statement I and Statement II are false 

1 

20. Ramesh has a small plot of land. Three of his sons are engaged in farming the same plot of 

land along with him. Recently two more sons started working in the same plot. But the crop 

production remained unaltered. Mention the type of unemployment observed in this situation. 

A. Seasonal unemployment    B. Disguised unemployment 

C. Chronic unemployment    D. Educated unemployment 

1 

SECTION B 

VERY SHORT ANSWER QUESTION (24=8) 

21. Describe the event in Russian history known as Bloody Sunday. 

                                                OR 

Summarize the contribution of Bolshevik party to the Russian Revolution of October 1917. 

2 

22. Examine any two ways in which a Democratic Government allow us to correct our mistake. 2 

23. Describe any two limitation and challenges of the political parties. 2 

24. Divide the Northern Plain on the basis of its relief. Describe any two of them. 2 

SECTION C 

SHORT ANSWER-BASED QUESTIONS (3x5-15) 

25. Examine any three factors that led to the cause of the Civil War in Russia. 3 

26. ‘Democracy provides a method to deal with differences and conflict.’- Describe any three 

features of a democratic government. 

3 

27. “Rivers have been of fundamental importance throughout the human history.”- Justify 3 

28. “Although Green Revolution method helps in increasing production of crop but it is not free 

from criticism’’. In the light of this statement write the adverse effect of this method on the 

following. 

A. Water 

B. Soil 

C. Environment 

3 

29. “Countries like Japan did not have any natural resources but these countries are developed 

and rich countries.” Justify. 

3 

SECTION D 

LONG ANSWER-BASED QUESTIONS (5X4=20) 

30. Explain the features of the Constitution of France drafted in 1791. 

OR 

How did the Revolution affect the everyday life of the French people? Discuss. 

 

5 
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31. Explain the importance of Institutional design of the Constitution of India.  

OR 

“India emerged as independent country amidst heavy turmoil.” Justify the statement. 

5 

32. Compare between Western Ghats and Eastern Ghats.  

OR 

“Each physiographic region of India complements to other.”-Analyse the statement. 

5 

33. Do you think Palampur is a well-developed village? Give any five reasons in support of 

your answer.  

OR 

A. Wage for farm labourers in Palampur is less than minimum wages? Give reason in support 

of this statement. 

4. B. On what terms did Savita get a loan from Tejpal Singh? Would Savita’s condition be 

different if she could get a loan from the bank at a low rate of interest? 

5 

SECTION E 

CASE-BASED QUESTIONS ( 4X3=12) 

34. Read the following passages and answer the following questions. 

Marx and Engels were principally concerned with the anatomy and dynamics of capitalism. 

The political praxis of the move to socialism, the vehicle of change, was undeveloped in their 

thinking. It was assumed that workers' parties, the social-democratic party would be the 

instrument of change. However, Russia lacked a civil society in which political parties could 

form and challenge political power. 

 

Lenin called for a centralised party of committed Socialist Revolutionaries. In his path-

breaking pamphlet, ‘What is to be done?’, it was contended that 'Class consciousness can be 

brought to the workers only from outside’. The history of all countries shows that the working 

class exclusively by its own effort can develop trade union consciousness. That is, the 

conviction that it is necessary to combine in unions, fight the employers and strive to compel 

the government to pass the necessary legislation. Lenin here called for the formation of a 

revolutionary Marxist party to lead the working class. 

 

The most innovative feature of Lenin's approach is the way he combined theory and praxis 

on national and international levels. Lenin was primarily concerned with 'changing the world' 

rather than interpreting it. As the influential French philosopher, Louis Althusser, has cogently 

put it: in Lenin's political and economic works, 'we can study Marxist philosophy at work... 

in the "practical" state, Marxist philosophy which has become politics, political action, 

analysis and decision'. 

 

34 I. Define the political ideology of Socialism according to the passage. 

 

34 II. Name the leader of a Socialist group called Bolsheviks in Russia as discussed in the 

source. 

 

34 III. There was a social disruption in a chaotic society with internal and external conflicts. 

How did the socialists’ ideas help with these emerging conflicts? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

 

 

2 

35. Read the following passages and answer the following questions. 

The growing domestic, municipal, industrial and agricultural demand for water from rivers 

naturally affects the quality of water. As a result, more and more water is being drained out 

of the rivers reducing their volume. On the other hand, a heavy load of untreated sewage 

and industrial effluents are emptied into the rivers. This affects not only the quality of water 

but also the self-cleansing capacity of the river. For example, the adequate streamflow in the 

Ganga water is able to dilute and assimilate pollution loads within 20 km of large cities but 

the increasing urbanization and industrialization do not allow it to happen and the pollution 
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level of many rivers has been rising. Concern over rising pollution in our rivers lead to the 

launching of various action plans to clean the rivers.  

A.  Define river pollution. 

B. Give two major causes of river water pollution. 

C. State any two measures to control river pollution. 

 

 

  1 

  1 

  2 

36. Read the following passage and answer the following questions: 

Sarva  Shiksha Abhiyan is a significant step towards providing elementary  education to all 

children in the age group of 6-14 years by 2010. It is a time-bound initiative of the Central 

Government, in partnership with the States, the local government and the community for 

achieving the goal of universalization of elementary  education. Along with it, bridge courses 

and back to-school camps have been initiated to increase the enrolment in elementary 

education. Mid-day meal scheme has been implemented to encourage attendance and 

retention of children and improve their nutritional status. These policies could add to the 

literate population of India. 

The Gross Enrolment Ratio (GER) in higher education in the age group of 18 to 23 years is 

26.3% in 2018-19, which would be broadly in line with world average. The strategy focuses 

on increasing access, quality, and adoption of state-specific curriculum modification, 

vocationalisation and networking on the use of information technology. There is also focuses 

on distance  education, convergence of formal, non-formal, distance and 

IT  education institutions. 

 

36 I. Name any two initiatives taken by the government to improve elementary  education in 

India. 

36 II. Why has mid-day meal scheme been implemented? 

36 III. Mention any two features of Sarva  Shiksha Abhiyan. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

2 

SECTION F 

MAP SKILL-BASED QUESTION (2+3=5) 

37.a 

 

Three items A and B are shown in the given outline map of France. Identify these items with 

the help of following information and write their correct names. 

A. Port related to slave trade 

B. The place where French Revolution of 1789 started. 

2 

 

 

 

37.b i. On the given outline map of India, locate and label any two of the following items with 

suitable symbols.  

a. The state which shares its boundaries with China, Nepal and Bhutan. 

b. Karakoram range 

c. Coastal plain of Maharashtra 

d. Highest Mountain peak of Western Ghat 

 

ii. On the same map two features are marked as A and B. Identify any one them with the help 

of the information given and write their correct names on the lines drawn near to them. 

A. A Peninsular River 

B. A Himalayan River. 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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